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APPARATUS AND METHOD FOR
CALIBRATING INERTIAL SENSOR

CROSS-REFERENCE TO RELATED
APPLICATION

[0001] This application is based on and claims the benefit
of priority from earlier Japanese Patent Application No.
2020-148868 on Sep. 4, 2020, the description of which is
incorporated herein by reference.

BACKGROUND

Technical Field

[0002] This disclosure relates to an apparatus and a
method for calibrating an inertial sensor.

Related Art

[0003] A calibration apparatus for calibrating an accelera-
tion sensor mounted to a vehicle is known that calibrates the
acceleration sensor when a reference location and a stopping
location of the vehicle match and a reference orientation and
a stopping orientation of the vehicle match.

BRIEF DESCRIPTION OF THE DRAWINGS

[0004] In the accompanying drawings:

[0005] FIG. 1A is a block diagram of a calibration appa-
ratus according to one embodiment;

[0006] FIG. 1B is a functional block diagram of a posi-
tional misalignment detector of the calibration apparatus;
[0007] FIG. 2 is a top view of a vehicle carrying the
calibration apparatus;

[0008] FIG. 3 is a flowchart of a positional misalignment
detection process performed by the calibration apparatus;
[0009] FIG. 4 is a flowchart of an inertial sensor calibra-
tion process performed by the calibration apparatus;
[0010] FIG. 5 is a block diagram of a calibration apparatus
according to one modification; and

[0011] FIG. 6 is a flowchart of an inertial sensor calibra-
tion process performed by the calibration apparatus accord-
ing to the modification.

DESCRIPTION OF SPECIFIC EMBODIMENTS

[0012] The above known calibration apparatus, as dis-
closed in JP-A-2018-132378, calibrates the acceleration
sensor when the vehicle is placed at a preset location and
orientation. Thus, the calibration apparatus is unable to
calibrate the acceleration sensor, for example, while the
vehicle is traveling or moving. Besides the acceleration
sensor, a gyro sensor for detecting an angular velocity of the
vehicle may be calibrated. Since the above known calibra-
tion apparatus also calibrates the gyro sensor when the
vehicle is placed at a preset location and orientation, the
above known calibration apparatus is unable to calibrate the
gyro sensor while the vehicle is traveling or moving.
[0013] In view of the above, it is desired to have an
apparatus and a method for calibrating an inertial sensor that
detects an acceleration and an angular velocity of a vehicle,
capable of calibrating the inertial sensor whether while the
vehicle is traveling or while the vehicle is stopped.

[0014] A first aspect of the present disclosure provides an
apparatus for calibrating an inertial sensor configured to
detect an angular velocity of a vehicle, the vehicle being
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equipped with at least one reference receiver which receives
signals from a plurality of positioning satellites, at least one
first receiver which receives signals from the plurality of
positioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the apparatus including: a position calculator configured to
calculate a first relative position of the first receiver to a
position of the reference receiver based on data based on the
signals received by the reference receiver from the position-
ing satellites and data based on the signals received by the
first receiver from the positioning satellites, and calculate a
second relative position of the second receiver to the posi-
tion of the reference receiver based on the data based on the
signals received by the reference receiver from the position-
ing satellites and data based on the signals received by the
second receiver from the positioning satellites; an attitude
estimator configured to estimate a value for an attitude of the
vehicle and a value for a change in attitude of the vehicle
based on the first relative position and the second relative
position; an angular velocity estimator configured to esti-
mate a value for an angular velocity of the vehicle based on
the value for the attitude of the vehicle estimated by the
attitude estimator and the value for the change in attitude of
the vehicle estimated by the attitude estimator; an error
estimator configured to, based on the value for the angular
velocity of the vehicle estimated by the angular velocity
estimator and a value for the angular velocity of the vehicle
detected by the inertial sensor, estimate a value for an
angular velocity error that is an error between the value for
the angular velocity of the vehicle estimated by the angular
velocity estimator and the value for the angular velocity of
the vehicle detected by the inertial sensor; and a calibrator
configured to calibrate the value for the angular velocity of
the vehicle detected by the inertial sensor based on the value
for the angular velocity error estimated by the error estima-
tor.

[0015] A second aspect of the present disclosure provides
an apparatus for calibrating an inertial sensor configured to
detect an acceleration of a wvehicle, the vehicle being
equipped with at least one reference receiver which receives
signals from a plurality of positioning satellites, at least one
first receiver which receives signals from the plurality of
positioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the apparatus including: a position calculator configured to
calculate a first relative position of the first receiver to a
position of the reference receiver based on data based on the
signals received by the reference receiver from the position-
ing satellites and data based on the signals received by the
first receiver from the positioning satellites, and calculate a
second relative position of the second receiver to the posi-
tion of the reference receiver based on the data based on the
signals received by the reference receiver from the position-
ing satellites and data based on the signals received by the
second receiver from the positioning satellites; a attitude
estimator configured to estimate a value for an attitude of the
vehicle based on the first relative position and the second
relative position; an acceleration estimator configured to
estimate a value for an acceleration of the vehicle based on
the value for the attitude of the vehicle estimated by the
attitude estimator;

[0016] an error estimator configured to, based on the value
for the acceleration of the vehicle estimated by the accel-
eration estimator and a value for the acceleration of the
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vehicle detected by the inertial sensor, estimate a value for
an acceleration error that is an error between the value for
the acceleration of the vehicle estimated by the acceleration
estimator and the value for the acceleration of the vehicle
detected by the inertial sensor; and a calibrator configured to
calibrate the value for the acceleration of the vehicle
detected by the inertial sensor based on the value for the
acceleration error estimated by the error estimator.

[0017] A third aspect of the present disclosure provides a
method for calibrating an inertial sensor configured to detect
an angular velocity of a vehicle, the vehicle being equipped
with at least one reference receiver which receives signals
from a plurality of positioning satellites, at least one first
receiver which receives signals from the plurality of posi-
tioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the method including: calculating a first relative position of
the first receiver to a position of the reference receiver based
on data based on the signals received by the reference
receiver from the positioning satellites and data based on the
signals received by the first receiver from the positioning
satellites, and calculate a second relative position of the
second receiver to the position of the reference receiver
based on the data based on the signals received by the
reference receiver from the positioning satellites and data
based on the signals received by the second receiver from
the positioning satellites; estimating a value for an attitude
of the vehicle and a value for a change in attitude of the
vehicle based on the first relative position and the second
relative position; estimating a value for an angular velocity
of the vehicle based on the value for the attitude of the
vehicle estimated by the attitude estimator and the value for
the change in attitude of the vehicle estimated by the attitude
estimator; based on the value for the angular velocity of the
vehicle estimated and a value for the angular velocity of the
vehicle detected by the inertial sensor, estimating a value for
an angular velocity error that is an error between the value
for the angular velocity of the vehicle estimated and the
value for the angular velocity of the vehicle detected by the
inertial sensor; and calibrating the value for the angular
velocity of the vehicle detected by the inertial sensor based
on the value for the angular velocity error estimated by the
error estimator.

[0018] A fourth aspect of the present disclosure provides
a method for calibrating an inertial sensor configured to
detect an acceleration of a vehicle, the vehicle being
equipped with at least one reference receiver which receives
signals from a plurality of positioning satellites, at least one
first receiver which receives signals from the plurality of
positioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the method including: calculating a first relative position of
the first receiver to a position of the reference receiver based
on data based on the signals received by the reference
receiver from the positioning satellites and data based on the
signals received by the first receiver from the positioning
satellites, and calculating a second relative position of the
second receiver to the position of the reference receiver
based on the data based on the signals received by the
reference receiver from the positioning satellites and data
based on the signals received by the second receiver from
the positioning satellites; estimating a value for an attitude
of the vehicle based on the first relative position and the
second relative position; estimating a value for an accelera-
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tion of the vehicle based on the value for the attitude of the
vehicle estimated; based on the value for the acceleration of
the vehicle estimated and a value for the acceleration of the
vehicle detected by the inertial sensor, estimating a value for
an acceleration error that is an error between the value for
the acceleration of the vehicle estimated and the value for
the acceleration of the vehicle detected by the inertial
sensor; and calibrating the value for the acceleration of the
vehicle detected by the inertial sensor based on the value for
the acceleration error estimated.

[0019] The first relative position is a relative position of
the first receiver to the reference receiver disposed in the
vehicle. The second relative position is a relative position of
the second receiver to the reference receiver disposed in the
vehicle. Therefore, the first relative position and the second
relative position do not change whether the vehicle is
stopped or traveling. This allows the calibration apparatus to
estimate the value for the attitude of the vehicle based on the
first relative position and the second relative position,
regardless of whether the vehicle is stopped or traveling.
Therefore, whether the vehicle is stopped or traveling, that
is, whether the vehicle is stationary or moving, the calibra-
tion apparatus can calibrate the inertial sensor based on the
estimated value for the attitude of the vehicle.

[0020] Hereinafter, exemplary embodiments of the present
disclosure will be described in detail with reference to the
accompanying drawings, in which like reference numerals
refer to similar elements and duplicated description thereof
will be omitted.

[0021] A calibration apparatus 50 is an inertial sensor
calibration apparatus and is used in, for example, a vehicle
1. The vehicle 1 will now be described.

[0022] As illustrated in FIG. 1A, the vehicle 1 includes a
reference Global Navigation Satellite System (GNSS)
receiver 10, a first GNSS receiver 11, a second GNSS
receiver 12, a gyro sensor 20, a vehicle speed sensor 30, an
acceleration sensor 40, and a calibration apparatus 50.
[0023] The reference GNSS receiver 10 corresponds to a
reference receiver. As illustrated in FIG. 2, the reference
GNSS receiver 10 is disposed in the vehicle 1. The reference
GNSS receiver 10 receives signals from a plurality of
positioning satellites (not shown). As illustrated in FIG. 1A,
the reference GNSS receiver 10 transmits reference data
Dref to the calibration apparatus 50 based on the received
signals. The calibration apparatus 50 will be described later.
The reference data Dref includes, for example, a wavenum-
ber and a phase of a carrier wave, ephemeris and the like,
from each positioning satellite with respect to time. The
ephemeris is orbital information of the positioning satellite.
[0024] The first GNSS receiver 11 corresponds to a first
receiver. The first GNSS receiver 11 is mounted to the
vehicle 1 and disposed to the left of and behind the reference
GNSS receiver 10 as illustrated in FIG. 2. Like the reference
GNSS receiver 10, the first GNSS receiver 11 receives
signals from the plurality of positioning satellites (not
shown). As illustrated in FIG. 1A, the first GNSS receiver 11
transmits first data D1 to the calibration apparatus 50 based
on the received signals. The first data D1 includes, for
example, a wavenumber and a phase of a carrier wave,
ephemeris and the like, from each positioning satellite with
respect to time.

[0025] The second GNSS receiver 12 corresponds to a
second receiver. The second GNSS receiver 12 is mounted
to the vehicle 1 and disposed to the right of and behind the
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reference GNSS receiver 10 as illustrated in FIG. 2. Like the
reference GNSS receiver 10 and the first GNSS receiver 11,
the second GNSS receiver 12 receives signals from the
plurality of positioning satellites (not shown). As illustrated
in FIG. 1A, the second GNSS receiver 12 transmits second
data D2 to the calibration apparatus 50 based on the received
signals. The second data D2 includes, for example, a wav-
enumber and a phase of a carrier wave, ephemeris and the
like, from each positioning satellite with respect to time. The
positioning satellites used for the reference GNSS receiver
10, the first GNSS receiver 11, and the second GNSS
receiver 12 may include Global Positioning System (GPS)
satellites, Global Navigation Satellite System (GLONASS)
satellites, Galileo satellites, quasi-zenith satellites, and other
satellites.

[0026] The gyro sensor 20 corresponds to an inertial
sensor. As illustrated in FIG. 1A, the gyro sensor 20 trans-
mits, to the calibration apparatus 50 (described later), a
signal corresponding to a detected angular velocity Qc of the
vehicle 1.

[0027] The vehicle speed sensor 30 transmits, to the
calibration apparatus 50, a signal corresponding to a vehicle
speed Ve, where the vehicle speed Ve is the magnitude of
speed of the vehicle 1.

[0028] The acceleration sensor 40 corresponds to an iner-
tial sensor. As illustrated in FIG. 1A, the acceleration sensor
40 transmits, to the calibration apparatus 50 (described
later), a signal corresponding to a detected acceleration Ac
of the vehicle 1.

[0029] The calibration apparatus 50 is configured around
at least one microcomputer formed of a central processing
unit (CPU), non-transitory tangible storage media, such as a
read-only memory (ROM), a random-access memory
(RAM), a flash memory and the like, and an input-output
interface. The CPU executes programs stored in the ROM or
the flash memory, where the RAM is used as a workspace.
In addition, the calibration apparatus 50 calibrates the gyro
sensor 20 and the acceleration sensor 40 by the CPU
executing a calibration program. In addition, as described
later, the calibration apparatus 50 executes another program
than the calibration program to detect a positional misalign-
ment between the reference GNSS receiver 10 and the first
GNSS receiver 11 or the second GNSS receiver 12. The
positional misalignment between the reference GNSS
receiver 10 and the first GNSS receiver 11 or the second
GNSS receiver 12 means a deviation in predetermined
positional relationship between the reference GNSS receiver
10, the first GNSS receiver 11, and the second GNSS
receiver 12.

[0030] The calibration apparatus 50 includes, as functional
blocks, a relative position calculator 51, an attitude estimator
52, an Euler angle converter 53, and a positional misalign-
ment detector 54. The calibration apparatus 50 further
includes, as functional blocks, an angular velocity estimator
55, an angular velocity error estimator 56, a gyro calibrator
57, an acceleration estimator 58, an acceleration error esti-
mator 59, and an acceleration calibrator 60.

[0031] The relative position calculator 51 calculates a first
relative position vector P1 based on the reference data Dref
from the reference GNSS receiver 10 and the first data D1
from the first GNSS receiver 11. The relative position
calculator 51 calculates a second relative position vector P2
based on the reference data Dref from the reference GNSS
receiver 10 and the second data D2 from the second GNSS
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receiver 12. The first relative position vector P1 is a vector
representing a relative position of the first GNSS receiver 11
to the reference GNSS receiver 10 in the absolute coordinate
system 2o. The second relative position vector P2 is a vector
representing a relative position of the second GNSS receiver
12 to the reference GNSS receiver 10 in the absolute
coordinate system Zo. As illustrated in FIG. 2, the absolute
coordinate system 2o is a coordinate system fixed in the
space outside the vehicle 1. Xo, Yo, and Zo axes of the
absolute coordinate system Zo are orthogonal to each other.
This absolute coordinate system 2o is represented in a
right-handed system. The relative position calculator 51 is
responsible for execution of step S206 described later.
[0032] The attitude estimator 52 uses the Kalman filter to
estimate an attitude quantity q of the vehicle 1 based on the
first relative position vector P1 and the second relative
position vector P2 calculated by the relative position calcu-
lator 51. The attitude estimator 52 estimates a change in
attitude quantity Aq based on the estimated attitude quantity
q. Details of estimation of the attitude quantity q and the
change in attitude quantity Aq of the vehicle 1 will be
described later. The attitude estimator 52 is responsible for
execution of step S208 described later.

[0033] The Euler angle converter 53 calculates a roll angle
¢, a pitch angle ), and a yaw angle 6 of the vehicle 1 based
on the attitude quantity q estimated by the attitude estimator
52. The Euler angle converter 53 is responsible for execution
of step S106 described later.

[0034] As illustrated in FIG. 2, a coordinate system with
a given position in the vehicle 1 as the origin is referred to
as a vehicle coordinate system Z. For example, the given
position in the vehicle is the center of gravity of the vehicle
1. The forward direction of the vehicle 1 is the positive
direction of the X-axis in the vehicle coordinate system 2.
The leftward direction of the vehicle 1 is the positive
direction of the Y axis in the vehicle coordinate system .
The upward direction of the vehicle 1 is the positive direc-
tion of the Z axis in the vehicle coordinate system 2. The
vehicle coordinate system X is represented as a right-handed
system.

[0035] A roll angle ¢ is a rotation angle about the X-axis
in the vehicle coordinate system 2. The positive direction of
the roll angle ¢ is the clockwise direction as the positive
direction of the X-axis is viewed from the origin of the
vehicle coordinate system 2. A pitch angle 1 is a rotation
angle about the Y-axis in the vehicle coordinate system 2.
The positive direction of the pitch angle 1 is the clockwise
direction as the positive direction of the Y-axis is viewed
from the origin of the vehicle coordinate system X. A yaw
angle 0 is a rotation angle about the Z-axis in the vehicle
coordinate system . The positive direction of the yaw angle
0 is the clockwise direction as the positive direction of the
Z-axis is viewed from the origin of the vehicle coordinate
system 2. The roll angle ¢, the pitch angle 1, and the yaw
angle 0 are synonymous with ZYX Euler angles, that is,
angles by which the vehicle coordinate system X is rotated
about the Z-axis, the Y-axis, and the X-axis in this order.
Details of calculation of the roll angle ¢, the pitch angle 1,
and the yaw angle 6 will be described later.

[0036] The positional misalignment detector 54 detects
whether there is a positional misalignment between the
reference GNSS receiver 10 and the first GNSS receiver 11
or the second GNSS receiver 12, based on the yaw angle 6
calculated by the Euler angle converter 53 and the vehicle
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speed Vc detected by the vehicle speed sensor 30. Details of
detection of the positional misalignment between the refer-
ence GNSS receiver 10, the first GNSS receiver 11 or the
second GNSS receiver 12 will be described later.

[0037] As illustrated in FIG. 1B, the positional misalign-
ment detector 54 includes, as functional blocks, a speed
determiner 541, a speed calculator 543, a yaw angle esti-
mator 545, and a positional misalignment determiner 547.

[0038] The angular velocity estimator 55 calculates an
estimated angular velocity €2e of the vehicle 1 based on the
attitude quantity q and the change in attitude quantity Aq
estimated by the attitude estimator 52. Details of estimation
of the estimated angular velocity Qe will be described later.
The angular velocity estimator 55 is responsible for execu-
tion of step S210 described later.

[0039] The angular velocity error estimator 56 estimates
an angular velocity error €€2 of the vehicle 1 based on the
estimated angular velocity Qe estimated by the angular
velocity estimator 55 and the detected angular velocity Qc
detected by the gyro sensor 20. The angular velocity error
e€2 is an error between the estimated angular velocity Qe
estimated by the angular velocity estimator 55 and the
detected angular velocity Qc detected by the gyro sensor 20.
As described later, the angular velocity error €2 includes a
value for a change in detected angular velocity Qc detected
by the gyro sensor 20 when the angular velocity of the
vehicle 1 changes or a value for the detected angular velocity
Qc detected by the gyro sensor 20 when the vehicle 1 is
stopped. Details of estimation of the angular velocity error
€2 will be described later. The angular velocity error esti-
mator 56 is responsible for execution of step S212 described
later.

[0040] The gyro calibrator 57 calibrates the detected angu-
lar velocity Qc detected by the gyro sensor 20 based on the
angular velocity error e€2 estimated by the angular velocity
error estimator 56. Details of calibration of the detected
angular velocity Qc will be described later. The gyro cali-
brator 57 is responsible for execution of step S214 described
later.

[0041] The acceleration estimator 58 calculates an esti-
mated acceleration Ae of the vehicle 1 based on the attitude
quantity q estimated by the attitude estimator 52. Details of
estimation of the estimated acceleration Ae will be described
later. The acceleration estimator 58 is responsible for execu-
tion of step S216 described later.

[0042] The acceleration error estimator 59 estimates an
acceleration error e A of the vehicle 1 based on the estimated
acceleration Ae estimated by the acceleration estimator 58
and the detected acceleration Ac detected by the acceleration
sensor 40. The acceleration error A is an error between the
estimated acceleration Ae estimated by the acceleration
estimator 58 and the detected acceleration Ac detected by
the acceleration sensor 40. The acceleration error eA
includes, as described below, a value for a change in
detected acceleration Ac detected by the acceleration sensor
40 when the acceleration of the vehicle 1 changes or a value
for the detected acceleration Ac detected by the acceleration
sensor 40 when the vehicle 1 is stopped. Details of estima-
tion of the acceleration error e A will be described below. The
acceleration error estimator 59 is responsible for execution
of step S218 described later.

[0043] The acceleration calibrator 60 calibrates the
detected acceleration Ac detected by the acceleration sensor
40 based on the acceleration error eA estimated by the
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acceleration error estimator 59. Details of calibration of the
detected acceleration Ac will be described later. The accel-
eration calibrator 60 is responsible for execution of step
S220 described later.

[0044] The vehicle 1 is configured as described above. The
calibration apparatus 50 mounted to the vehicle 1 calibrates
the gyro sensor 20 and the acceleration sensor 40. The
calibration apparatus 50 detects a positional misalignment
between the reference GNSS receiver 10 and the first GNSS
receiver 11 or the second GNSS receiver 12.

[0045] A positional misalignment detection process of
detecting a positional misalignment between the reference
GNSS receiver 10 and the first GNSS receiver 11 or the
second GNSS receiver 12 performed by the calibration
apparatus 50 executing a positional misalignment detection
program will be described with reference to the flowchart of
FIG. 3. For example, this positional misalignment detection
program is executed when the ignition is turned on in the
vehicle 1. In the following, a period of a series of operations
from the start of step S100 to the return to step S100 is
defined as a control cycle of the positional misalignment
detection process performed by the calibration apparatus 50.
[0046] At step S100, the calibration apparatus 50 acquires
various information.

[0047] More specifically, the calibration apparatus 50
acquires the reference data Dref from the reference GNSS
receiver 10. The calibration apparatus 50 acquires the first
data D1 from the first GNSS receiver 11. The calibration
apparatus 50 acquires the second data D2 from the second
GNSS receiver 12. The calibration apparatus 50 further
acquires a vehicle speed Vc from the vehicle speed sensor
30.

[0048] At step S102, the calibration apparatus 50 calcu-
lates a first relative position vector P1 and a second relative
position vector P2.

[0049] For example, the calibration apparatus 50 uses a
wavenumber and a phase of the contemporaneous carrier
wave in each of the reference data Dref and the first data D1
acquired at step S100 to calculate the first relative position
vector P1 using the Moving Baseline RTK method. The
calibration apparatus 50 uses a wavenumber and a phase of
the contemporaneous carrier wave in each of the data for
reference Dref and the second data D2 acquired at step S100
to calculate the second relative position vector P2 using the
Moving Baseline RTK method. RTK is an abbreviation for
Real Time Kinematic.

[0050] At step S104, the calibration apparatus 50 esti-
mates an attitude quantity q and a change in attitude quantity
Aq of the vehicle 1 based on the first relative position vector
P1 and the second relative position vector P2 calculated at
step S102. details of estimation of the attitude quantity q and
the change in attitude quantity Aq of the vehicle 1 will be
described later.

[0051] At step S106, the calibration apparatus 50 calcu-
lates a roll angle ¢, a pitch angle 1, and a yaw angle 6 of the
vehicle 1 based on the attitude quantity q estimated at step
S104. details of calculation of the roll angle ¢, the pitch
angle 1, and the yaw angle 6 of the vehicle 1 will be
described later. Step S106 is performed by the Euler angle
converter 53 that corresponds to a converter.

[0052] The reference GNSS receiver 10, the first GNSS
receiver 11, and the second GNSS receiver 12 are disposed
in the vehicle 1. Therefore, as the vehicle speed Vc
increases, the velocity of the reference GNSS receiver 10,
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the velocity of the first GNSS receiver 11, and the velocity
of the second GNSS receiver 12 increase. As these velocities
become higher, values of these velocities become more
stable, and thus the accuracy of calculating these velocities
becomes higher. Furthermore, this improves the accuracy of
calculating the estimated yaw angle 6e described later.

[0053] At step S108 subsequent to step S106, the calibra-
tion apparatus 50 determines whether the vehicle speed Ve
acquired at step S100 is equal to or higher than a vehicle
speed threshold Vc_th. The calibration apparatus 50 thereby
determines whether the accuracy of calculation of the veloc-
ity and the estimated yaw angle 6e, which will be described
later, is high. The vehicle speed threshold Vc_th is set by
experiment, simulation, or the like. As described above, the
vehicle speed Ve is a magnitude of the speed of the vehicle
1. Step S108 is performed by the speed determiner 541 of the
positional misalignment detector 54.

[0054] Ifthe vehicle speed Ve is equal to or higher than the
vehicle speed threshold Vc_th, the process flow proceeds to
step S110. If the vehicle speed Ve is less than the vehicle
speed threshold Vc_th, the above calculation accuracy is
low. For this reason, the calibration apparatus 50 does not
detect the positional misalignment between the reference
GNSS receiver 10 and the first GNSS receiver 11 or the
second GNSS receiver 12, and the process flow then returns
to step S100.

[0055] At step S110 subsequent to step S108, the calibra-
tion apparatus 50 calculates the reference receiver velocity
Vref, the first receiver velocity V1, and the second receiver
velocity V2 since the calculation accuracy is high. For
example, the calibration apparatus 50 calculates the refer-
ence receiver velocity Vref, the first receiver velocity V1,
and the second receiver velocity V2 using the Doppler effect
of the carrier waves from the positioning satellites (not
shown). The reference receiver velocity Vref is a velocity
vector of the reference GNSS receiver 10 in the absolute
coordinate system XZo. The first receiver velocity V1 is a
velocity vector of the first GNSS receiver 11 in the absolute
coordinate system Zo. The second receiver velocity V2 is a
velocity vector of the second GNSS receiver 12 in the
absolute coordinate system 2o. Step S110 is performed by
the speed calculator 543 of the positional misalignment
detector 54.

[0056] More specifically, the calibration apparatus 50 cal-
culates, based on the wavenumber of the carrier wave
received from each positioning satellite included in the
reference data Dref acquired at step S100, a wavelength and
a frequency of this carrier wave. In addition, the calibration
apparatus 50 calculates the velocity of each positioning
satellite based on the ephemeris included in the reference
data Dref acquired at step S100. The calibration apparatus
50 calculates the reference receiver velocity Vref based on
the calculated frequency of the carrier wave, the calculated
velocity of the positioning satellite, the frequency of the
carrier wave transmitted from the positioning satellite, and
the velocity of light. The calibration apparatus 50 also
calculates the first receiver velocity V1 in the same manner
as described above. Further, the calibration apparatus 50
calculates the second receiver velocity V2 in the same
manner as described above. As described above, the ephem-
eris is orbital information of the positioning satellite. The
frequency of the carrier wave transmitted from the position-
ing satellite is set according to the positioning satellite.
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[0057] Then, at step S112, the calibration apparatus 50
calculates an average of the reference receiver velocity Vref,
the first receiver velocity V1, and the second receiver
velocity V2 calculated at step S110. The calibration appa-
ratus 50 thereby calculates an average speed Vc_ave of the
vehicle 1 in the absolute coordinate system Zo. Calculating
these average values allows noise included in the average
speed Vc_ave to be smoothed out. Therefore, the noise
included in the average speed Vc_ave is reduced as com-
pared to cases where one of the reference receiver velocity
Vref, the first receiver velocity V1, and the second receiver
velocity V2 is representative of the estimated speed of the
vehicle 1.

[0058] Further, the calibration apparatus 50, for example,
substitutes an Xo-axis directional component and a Yo-axis
directional component of this calculated average speed
Vc_ave into the following relational expression (1). The
calibration apparatus 50 thereby estimates the estimated yaw
angle Oe of the vehicle 1. In the following relational expres-
sion (1), Vc_ave_Xo is the Xo-axis directional component
of the average speed Vc_ave in the absolute coordinate
system 2o0. Vc_ave_Yo is the Yo-axis directional component
of the average speed Vc_ave in the absolute coordinate
system 2o. Step S112 is performed by the yaw angle
estimator 545 of the positional misalignment detector 54.

P Vc_ave Yo
e = arctan chaveon]

®

[0059] Subsequently, at step S114, the calibration appara-
tus 50 calculates an absolute value of a difference between
the yaw angle 0 calculated at step S106 and the estimated
yaw angle Oe calculated at step S112, which is denoted by
10-0el.

[0060] In cases where there is no positional misalignment
between the reference GNSS receiver 10, the first GNSS
receiver 11, and the second GNSS receiver 12, the yaw angle
0 calculated at step S106 and the estimated yaw angle fe
calculated at step S112 should be equal.

[0061] As described above, the yaw angle 0 calculated at
step S106 is calculated based on the attitude quantity q of the
vehicle 1 estimated at step S104. Further, this attitude
quantity q of the vehicle 1 is calculated based on the first
relative position vector P1 and the second relative position
vector P2 calculated at step S102. As described above, the
first relative position vector P1 is a vector representing a
relative position of the first GNSS receiver 11 to the position
of the reference GNSS receiver 10 in the absolute coordinate
system 2o. The second relative position vector P2 is a vector
representing a relative position of the second GNSS receiver
12 to the position of the reference GNSS receiver 10 in the
absolute coordinate system Zo.

[0062] The yaw angle 6 calculated at step S106 is there-
fore calculated based on the first relative position vector P1
and the second relative position vector P2 calculated at step
S102. In cases where there is a positional misalignment
between the reference GNSS receiver 10 and the first GNSS
receiver 11 or the second GNSS receiver 12, values of the
first relative position vector P1 and the second relative
position vector P2 change as data of the misaligned receiver
changes.

[0063] Therefore, in cases where there is a positional
misalignment between the positions of the reference GNSS
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receiver 10 and the first GNSS receiver 11 or the second
GNSS receiver 12 with the vehicle 1 in the same attitude, the
value of the yaw angle 6 calculated at step S106 is different
from the value of the yaw angle 0 in cases where there is no
positional misalignment between the reference GNSS
receiver 10, the first GNSS receiver 11, and the second
GNSS receiver 12.

[0064] As described above, the estimated yaw angle Oe
calculated at step S112 is calculated using the reference
receiver velocity Vref, the first receiver velocity V1, and the
second receiver velocity V2. Since the reference GNSS
receiver 10, the first GNSS receiver 11, and the second
GNSS receiver 12 are located in the vehicle 1, the reference
receiver velocity Vref, the first receiver velocity V1 and the
second receiver velocity V2 vary with the vehicle speed Ve.
[0065] The estimated yaw angle e calculated at step S112
thus varies with the vehicle speed Vc. Even in cases where
there is a positional misalignment between the reference
GNSS receiver 10 and the first GNSS receiver 11 or the
second GNSS receiver 12, the vehicle speed Ve does not
change.

[0066] Therefore, even in cases where there is a positional
misalignment between the reference GNSS receiver 10 and
the first GNSS receiver 11 or the second GNSS receiver 12,
the estimated yaw angle 6e calculated at step S112 does not
change.

[0067] From the above, in cases where there is a positional
misalignment between the reference GNSS receiver 10 and
the first GNSS receiver 11 or the second GNSS receiver 12,
the values of the yaw angle 0 calculated at step S106 and the
estimated yaw angle 0 e calculated at step S112 are not the
same but different. Thus, the above absolute value |6-6el
increases as compared to cases where there is a positional
misalignment between the reference GNSS receiver 10 and
the first GNSS receiver 11 or the second GNSS receiver 12.
[0068] Therefore, at step S114, the calibration apparatus
50 determines whether the calculated absolute value 10-0el
is greater than a positional misalignment threshold A6_th.
The calibration apparatus 50 thereby detects a positional
misalignment between the reference GNSS receiver 10 and
the first GNSS receiver 11 or the second GNSS receiver 12.
The positional misalignment threshold A6_th is set by
experiment, simulation, or the like.

[0069] If the absolute value 18-8el is greater than the
positional misalignment threshold A6_th, the process flow
proceeds to step S116. If the absolute value 10-0el is equal
to or less than the positional misalignment threshold A8_th,
the process flow proceeds to step S118.

[0070] At step S116 subsequent to step S114, as the
absolute value 10-0el is greater than the positional misalign-
ment threshold AO_th, the calibration apparatus 50 deter-
mines that there is a positional misalignment between the
reference GNSS receiver 10 and the first GNSS receiver 11
or the second GNSS receiver 12. This determination is
stored, for example, in the RAM of the calibration apparatus
50. Thereafter, the process flow returns to step S100.
[0071] At step S118 subsequent to step S114, as the
absolute value 10-0el is equal to or less than the positional
misalignment threshold AB_th, the calibration apparatus 50
determines that there is no positional misalignment between
the reference GNSS receiver 10, the first GNSS receiver 11,
and the second GNSS receiver 12. This determination is
stored, for example, in the RAM of the calibration apparatus
50. Thereafter, the process flow returns to step S100. Steps
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S114, S116, and S118 are performed by the positional
misalignment determiner 547 of the positional misalignment
detector 54.

[0072] As described above, the calibration apparatus 50
detects the presence or absence of a positional misalignment
between the reference GNSS receiver 10 and the first GNSS
receiver 11 or the second GNSS receiver 12.

[0073] How to estimate the attitude quantity q of the
vehicle 1 at step S104 in the calibration apparatus 50 will
now be described.

[0074] To describe how to estimate the attitude quantity q,
some terms are defined as follows.

[0075] Position coordinates of the reference GNSS
receiver 10 in the vehicle coordinate system X are repre-
sented by Ant_ref. Position coordinates of the first GNSS
receiver 11 in the vehicle coordinate system X are repre-
sented by Antl. Position coordinates of the second GNSS
receiver 12 in the vehicle coordinate system X are repre-
sented by Ant2. For example, the X coordinate of Ant_refin
the vehicle coordinate system X is set to 1. The Y coordinate
of Ant_ref in the vehicle coordinate system X is set to 0. The
Z coordinate of Ant_ref in the vehicle coordinate system Z
is set to 0. The X coordinate of Antl in the vehicle
coordinate system Z is set to 0. The Y-coordinate of Antl in
the vehicle coordinate system 2 is set to 1. The Z-coordinate
of Antl in the vehicle coordinate system X is set to 0. The
X-coordinate of Ant2 in the vehicle coordinate system X is
set to 0. The Y-coordinate of Ant2 in the vehicle coordinate
system 2 is set to —1. The Z-coordinate of Ant2 in the vehicle
coordinate system 2 is set to 0.

[0076] Ant_ref is expressed as in the following relational
expression (2-1). Antl is expressed as the following rela-
tional expression (2-2). Ant2 is expressed as the following
relational expression (2-3). In the relational expressions
(2-1) to (2-3), the superscript ‘T’ is the matrix transpose
operator.

Ant_ref=[100]7 (-1
Ant1=[010]7 (2-2)
Ant2=[0-10]" (2-3)
[0077] The attitude quantity q of the vehicle 1 is repre-

sented by a quaternion. The quaternion represents a rotation
of the vehicle 1 in the three-dimensional space. four com-
ponents of the attitude quantity q are denoted as q0, q1, q2,
and q3. These components q0, ql, q2, and g3 include
information about the attitude of the vehicle 1.

[0078] In such a quaternion representation, the attitude
quantity q is expressed as shown in the following relational
expressions (3-1) and (3-2). The coordinate transformation
matrix E, which transforms position coordinates in the
vehicle coordinate system X into position coordinates in the
absolute coordinate system 2o, is expressed using the atti-
tude quantity q as shown in the following relational expres-
sion (3-3). In the following relational expression (3-1), i, j,
and k are basis elements of quaternions. In the following
relational expression (3-2), the superscript ‘1’ is the matrix
transpose operator.
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g=g0+glxXi+g2xj+g3xk

q=[q0 ql @2 31"

g0% +g12 — 2% —g3% 2x(gl xg2+q0xg3) 2x(gl xg3 —q0xq2)
E=|2x(glxg2—g0xg3) ¢0%—ql%+g2% —¢3% 2x(g2%q3+40xql)
2x(glxg3+g0xg2) 2x(g2xg3—g0xql) g0® —gl% — g2% + ¢3°

[0079] Let us denote the position coordinates of the ref-
erence GNSS receiver 10 in the absolute coordinate system
20 as Ant_ref_abs. Let us denote the position coordinates of
the first GNSS receiver 11 in the absolute coordinate system
20 as Antl_abs. Let us denote the position coordinates of the
second GNSS receiver 12 in the absolute coordinate system
20 as Ant2_abs.

[0080] Ant_ref abs is calculated by multiplying Ant_ref
by the above coordinate transformation matrix E, as shown
in the following relational expression (4-1). Antl_abs is
calculated by multiplying Antl by the above coordinate
transformation matrix E, as shown in the following rela-
tional expression (4-2). Ant2_abs is calculated by multiply-
ing Ant2 by the above coordinate transformation matrix E,
as shown in the following relational expression (4-3). As
described above, Ant_ref represents position coordinates of
the reference GNSS receiver 10 in the vehicle coordinate
system 2. Antl represents position coordinates of the first
GNSS receiver 11 in the vehicle coordinate system X. Ant2
represents position coordinates of the second GNSS receiver
12 in the vehicle coordinate system .

Ant_ref abs = E X Ant_ref 41
q0% +g1% — 2% — 437
=|2x%(gl xg2 - g0x43)
2% (gl Xg3 + g0 xg2)

Antl_abs = EX Antl 4-2)
2x(glxq2+4q0%xg3)
=| g0 —g1? + g2 — ¢3°
2% (g2x g3 —q0xqgl)

Ant2_abs = ExAni2 4-3)
—-2%(gl xg2 + g0 x43)
=| —(g0? —gl1? +¢22 —43?)
—-2%(g2%g3—g0xgql)

[0081] Further, a six-dimensional number vector having
f11, f12, £13, 21, £22 and 123 as components is defined as
shown in the following relational expression (5).

[0082] £11 is represented by subtracting the Xo-axis direc-
tional component of the Ant_ref abs from the Xo-axis
directional component of the Antl_abs. Therefore, f11 is an
Xo-axis directional component of a vector, in the absolute
coordinate system Zo, representing a relative position of the
first GNSS receiver 11 to the position of the reference GNSS
receiver 10.
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[0083] £12 is represented by subtracting the Yo-axis direc-
tional component of Ant_ref abs from the Yo-axis direc-
tional component of Antl_abs. Therefore, 12 is a Yo-axis
directional component of a vector, in the absolute coordinate
system 2o, representing a relative position of the first GNSS
receiver 11 to the position of the reference GNSS receiver
10.

[0084] £13 is represented by subtracting the Zo-axis direc-
tional component of Ant_ref abs from the Zo-axis direc-
tional component of Antl_abs. Therefore, f13 is a Zo-axis
directional component of a vector, in the absolute coordinate
system 2o, representing the relative position of the first
GNSS receiver 11 to the position of the reference GNSS
receiver 10.

[0085] {21 is represented by subtracting the Xo-axis direc-
tional component of Ant_ref abs from the Xo-axis direc-
tional component of Ant2_abs. Therefore, {21 is a Xo-axis
directional component of a vector, in the absolute coordinate
system 2o, representing the relative position of the second
GNSS receiver 12 to the position of the reference GNSS
receiver 10.

[0086] 22 is represented by subtracting the Yo-axis direc-
tional component of Ant_ref abs from the Yo-axis direc-
tional component of Ant2_abs. Therefore, 22 is a Yo-axis
directional component of a vector, in the absolute coordinate
system 2o, representing the relative position of the second
GNSS receiver 12 to the position of the reference GNSS
receiver 10.

[0087] {23 is represented by subtracting the Zo-axis direc-
tional component of Ant_ref abs from the Zo-axis direc-
tional component of Ant2_abs. Therefore, {23 is a Zo-axis
directional component of a vector, in the absolute coordinate
system 2o, representing the relative position of the second
GNSS receiver 12 with respect to the position of the
reference GNSS receiver 10.

[0088] f11, f12, {13, £21, 122, and 23 are values based on
the positions of the reference GNSS receiver 10, the first
GNSS receiver 11, and the second GNSS receiver 12 that are
preset in the vehicle coordinate system Z.

f11 2% (gl X g2 + g0 x g3) — (g0° + g1% — g2% — ¢3?) (&)
f12 (q0° - g1” +q2% - g3%) -2 x (g1 x g2 — g0 x ¢3)

f13 2%(g2%q3 —g0xgl)—2%(gl xg3 +40%xg2)

s " —2% (gl X g2 + g0 xg3) — (g0 + g1® — g22 — g3%)

122

—(g0% —g1% + 2% — g3°) = 2x (gl X g2 — g0 X g3)

B | Coxg2xg3-g0%gl)—2x(g1 xq3 + g0 xg2)
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[0089] The Xo-axis directional component of the first
relative position vector P1 in the absolute coordinate system
2o is denoted by x1_rel. The Yo-axis directional component
of the first relative position vector P1 in the absolute
coordinate system 2o is denoted by yl_rel. The Zo-axis
directional component of the first relative position vector P1
in the absolute coordinate system 2o is denoted by z1_rel.
The Xo-axis directional component of the second relative
position vector P2 in the absolute coordinate system Zo is
denoted by x2_rel. The Yo-axis directional component of the
second relative position vector P2 in the absolute coordinate
system 2o is denoted by y2_rel. The Zo-axis directional
component of the second relative position vector P2 in the
absolute coordinate system Zo is denoted by z2_rel. As
described above, the first relative position vector P1 is a
vector representing the relative position of the first GNSS
receiver 11 to the position of the reference GNSS receiver 10
in the absolute coordinate system Zo. The second relative
position vector P2 is a vector representing the relative
position of the second GNSS receiver 12 to the position of
the reference GNSS receiver 10 in the absolute coordinate
system o.

[0090] Therefore, as shown in the following relational
expression (6), x1_rel of the first relative position vector P1
corresponds to f11. y1_rel of the first relative position vector
P1 corresponds to f12. z1_rel of the first relative position
vector P1 corresponds to f13. x2_rel of the second relative
position vector P2 corresponds to 21. y2_rel of the second
relative position vector P2 corresponds to £22. z2_rel of the
second relative position vector P2 corresponds to {23. In the
relation (6), s is a six-dimensional number vector having
x1_rel, y1_rel, z1_rel, x2_rel, y2_rel, and 72_rel as compo-
nents. f(q) is a six-dimensional number vector with f11, f12,
f13, £21, £22, and 123 as components.

x1_rel [l (6)
yl_rel f12
Pl z1_rel Antl_abs — Ant_ref abs f13
5= [ PZ} x| [Amz,abs — Ant ref abs |~ | p21 |77 @
y2_rel 122
72 rel 123

[0091] Itis now assumed that these f11, f12, {13, 21, £22,
23 coincide with x1_rel, y1_rel, z1_rel, x2_rel, y2_rel,
72_rel, respectively. As mentioned above, since f11, f12,
f13, 121, £22, and 123 are represented by the attitude quantity
q of vehicle 1, the attitude quantity q represented by quater-
nions can be accurately estimated.

gt + 1) =Bxq(1)

s(n) = H(1) xq(1)

= = B =]

0
0
0
1

o o O
o D = O
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[0092] If f(q) is linear, the calibration apparatus 50 can
estimate the attitude quantity q using a Kalman filter. How-
ever, f(q) is a quadratic function of q0, q1, q2, and g3, as
shown in the above relational expression (5), that is, f(q) is
nonlinear. As long as f(q) is nonlinear, the calibration
apparatus 50 can not use the Kalman filter.

[0093] Here, the partial derivative of f(q) with respect to
the attitude quantity q allows f(q) to be linearly approxi-
mated. Since f(q) is linearly approximated, the calibration
apparatus 50 can estimate the attitude quantity using the
Kalman filter. Therefore, using this extended Kalman filter,
the calibration apparatus 50 estimates the attitude quantity q
of the vehicle 1.

[0094]
equation in which the attitude quantity q is a state vector, as

Therefore, the calibration apparatus 50 uses a state

shown in the following relational expression (7-1). The
calibration apparatus 50 uses an observation equation in
which the above-mentioned s is an observation vector for
attitude, as shown in the following relational expression
(7-2). It is assumed in the following that there is no noise in
the state equation and the observation equation. The above
s is the six-dimensional number vector represented by the
first and second relative position vectors P1 and P2. t is an
integer equal to or greater than O and represents the number
of updates. q(t) is the attitude quantity q during the t*
update, and B is a state transition matrix from q(t) to q(t+1).
In addition, it is assumed here that the attitude quantity q of
the vehicle 1 does not change in a small amount of time, and
this state transition matrix for attitude B is a 4x4 identity
matrix, for example, as shown in the following relational
expression (7-3). H(t) is an observation matrix that converts
q(t) to s(t). The observation matrix for attitude H(t) is
calculated by partial differentiation of f{q) with respect to the
attitude quantity q, as shown in the following relational
expression (7-4). As described above, the components of
f(q), that is, {11, f12, £13, £21, 22, and 23, are based on the
positions of the reference GNSS receiver 10, the first GNSS
receiver 11, and the second GNSS receiver 12, which are
preset in the vehicle coordinate system X. Therefore, the
observation matrix for attitude H(t) is a value based on the
positions of the reference GNSS receiver 10, the first GNSS
receiver 11, and the second GNSS receiver 12 that are preset
in the vehicle coordinate system .

7-1
72

-3
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-continued

Af1l afll afll afll 7-4)

dg0  dgl dq2 943

af12 afl2 afl2 afl12

090 6ql  9q2 g3

Af13 af13 af13 Af13

940 gl 942 9q3

H@) = =

af2l afal af2l afal

090 6ql  9q2 g3

Af22 Af22 Aaf22 Af22

940 gl 942 9q3

8f23 9f23 af23 3f23

090 6ql  9q2 g3
2xg3-2xg0 2xg2-2%xgl 2xql+2xg2 2xq0+2x43
2xg0+2%xg3 -2xgl-2xqg2 2xg2-2xgl -2Xxg3+2x40
—2xgl —-2%q2 -2xg0-2%g3 2%g3-2%q0 2xg2-2Xgl
—2xg3-2%q0 -2xg2-2%gl -2xXgl+2%xqg2 -2xg0+2%x43
—2xg0+2%g3 2%xgl-2%Xg2 -2Xg2-2%xgl 2%xg3+2%x40
2xgl =2xqg2 2Xqg0-2xg3 -2xg3-2%Xqg0 -2xg2-2x%gl

[0095] The calibration apparatus 50 estimates the attitude [0097] The calibration apparatus 50 substitutes the state

amount g, for example, using the following relational
expressions (8-1) to (8-5). In the relational expressions,
Gq(t) is the Kalman gain at the t* update. Pq is an error
covariance matrix of the attitude quantity q. Pq(tit-1) is a
priori error covariance matrix, and is a predicted value of the
error covariance matrix for attitude Pq at the t* update based
on information of up to the (t-1)* update. Pq(tlt) is the error
covariance matrix for attitude Pq based on information of up
to the t* update. q(tlt-1) is a priori estimate that is a
predicted value of the attitude quantity q at the t* update
based on information of up to the (t-1)* update. q(tit) is a
posteriori estimate that is the optimal estimate of the attitude
quantity q based on information of up to the t* update. 1 is
the identity matrix. The superscript ‘T’ is the matrix trans-
pose operator. The superscript ‘=1’ is the matrix inverse
operatotr.

Pq(tlt-1)=BxPq(t-11t-1)xBT (8-1)
q(tl-1)=Bxq(t-112-1) (8-2)
Gq(O)=Pq(tl=DxH() T={H(OxPq(tl=1)xH(1) T}~ (8-3)
qUN=q@-D)+G)x{s()-H(Dxq(1l-1)} (8-4)
Pqtiy={F-Gq(t)xH(1)}Pq(tl1-1) (8-5)
[0096] Specifically, in the case of the t* update, at step

S104, the calibration apparatus 50 substitutes the state
transition matrix for attitude B, the error covariance matrix
for attitude Pq in the previous control cycle, and the trans-
posed matrix of the state transition matrix for attitude B into
the above relational expression (8-1). The calibration appa-
ratus 50 thereby calculates Pq(tlt—1). Pq(tlt-1) is a predicted
value of the error covariance matrix for attitude Pq in the
current control cycle. As the state transition matrix for
attitude B is here the identity matrix, Pq(tlt-1) is the same
as the error covariance matrix for attitude Pq in the previous
control cycle. The initial value of the error covariance matrix
for attitude Pq is set by experiment, simulation, or the like.

transition matrix for attitude B and the attitude quantity q in
the previous control cycle into the above-mentioned rela-
tional expression (8-2). The calibration apparatus 50 thereby
calculates q(tlt—1), where q(tlt—1) is a predicted value of the
attitude quantity q in the current control cycle. As the state
transition matrix for attitude B is here the identity matrix,
q(tlt-1) is the same as the attitude quantity q in the previous
control cycle. The initial value of the attitude quantity q is
set, for example, by experiment, simulation, or the like.
[0098] The calibration apparatus 50 substitutes each com-
ponent of q(tlt-1) calculated above into the above relational
expression (7-4). The calibration apparatus 50 thereby cal-
culates the observation matrix for attitude H(t) in the current
control cycle.

[0099] Further, the calibration apparatus 50 substitutes the
above-calculated Pq(tlt-1), the above-calculated observa-
tion matrix for attitude H(t), and the transposed matrix of
this observation matrix for attitude H(t) into the above-
mentioned relational expression (8-3). The calibration appa-
ratus 50 thereby calculates the Kalman gain for attitude
Gq(t) in the current control cycle.

[0100] The calibration apparatus 50 generates an obser-
vation vector for attitude in the current control cycle from
the components of the first relative position vector P1 and
the components of the second relative position vector P2
calculated at step S102 using the above relational expression
©).

[0101] The calibration apparatus 50 substitutes the above
calculated q(tlt-1), the above calculated Kalman gain for
attitude Gq(t), the above generated observation vector for
attitude, and the above calculated observation matrix for
attitude H(t) into the above relational expression (8-4). Thus,
the calibration apparatus 50 calculates the attitude quantity
q(tlt) in the current control cycle.

[0102] The calibration apparatus 50 substitutes the iden-
tity matrix I, the Kalman gain for attitude Gq(t) calculated
above, the observation matrix for attitude H(t) calculated
above, and Pq(tlt-1) calculated above into the above-men-
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tioned relational expression (8-5). The calibration apparatus
50 thus calculates the error covariance matrix for attitude
Pq(tlt) in the current control cycle. The calibration apparatus
50 can calculate Pq(t+1It) in the next control cycle using the
calculated error covariance matrix for attitude Pq(tlt) in the
current control cycle, where Pq(t+1 It) is a predicted value
of the error covariance matrix for attitude Pq in the next
control cycle.

[0103] In this way, the calibration apparatus 50 estimates
the attitude quantity q.

[0104] How the calibration apparatus 50 estimates the
change in attitude quantity Aq at step S104 will now be
described.

[0105] In the case of the t update, the calibration appa-
ratus 50 subtracts the attitude quantity q estimated in the
previous control cycle from the attitude quantity q estimated
in the current control cycle as shown in the following
relation (9). In this way, the calibration apparatus 50 esti-
mates the change in attitude quantity Aq. In the following
relation (9), g(t) is the attitude quantity q updated for the t*
time. q0(t) is qO of the components of the attitude quantity
q updated for the t* time. q1(t) is q1 of the components of
the attitude quantity q updated for the t* time. q2(t) is q2 of
the components of the attitude quantity q updated for the t*
time. q2(t) is q2 of the components of the attitude quantity
q updated for the t* time. q3(t) is q3 of the components of
the attitude quantity q updated for the t* time.

Ag=q()—qt-1) (©)]

q0(1) — g0 - 1)
ql@)—glz-1)
q2(0) - g2t 1)
93(1) - g3t - 1)

[0106] As described above, the calibration apparatus 50
estimates the attitude quantity q and the change in attitude
quantity Aq.

[0107] Next, how the calibration apparatus 50 calculates
the roll angle ¢, the pitch angle , and the yaw angle 0 of
the vehicle 1 at step S106 will be described.

[0108] The calibration apparatus 50 substitutes the attitude
quantity q estimated at step S104 into the following rela-
tional expression (10). The calibration apparatus 50 thereby
calculates the roll angle ¢, the pitch angle v, and the yaw
angle 0 of the vehicle 1. The formula (10) is a relational
expression for converting the quaternion into the Euler
angles.

N [2)<(q0><q1+q2><q3)] (10)
¢ R P e
¢ | =| arcsin[2 X (g0Xx g2 —gl xg3)]

N [2)<(q0><q3+q1><q2)]
et g02 +gl2 —g22 — 432

[0109] As described above, the calibration apparatus 50
calculates the roll angle ¢, the pitch angle v, and the yaw
angle 0 of the vehicle 1.

[0110] Next, how the calibration apparatus 50 calibrates
the gyro sensor 20 and the acceleration sensor 40 by
executing a calibration program will be described with
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reference to the flowchart of FIG. 4. For example, this
calibration program is executed when the ignition of the
vehicle 1 is turned on. In the following, a period of a series
of operations from the start of step S200 to the return to step
S200 is defined as a control cycle of the calibration process
performed by the calibration apparatus 50.

[0111] At step S200, the calibration apparatus 50 acquires
various information.

[0112] Specifically, the calibration apparatus 50 reads,
from the RAM, the determination as to whether there is a
positional misalignment between the reference GNSS
receiver 10 and the first GNSS receiver 11 or the second
GNSS receiver 12 made by executing the above-described
positional misalignment detection program. In addition, the
calibration apparatus 50 acquires the reference data Dref
from the reference GNSS receiver 10. The calibration appa-
ratus 50 acquires the first data D1 from the first GNSS
receiver 11. The calibration apparatus 50 acquires the second
data D2 from the second GNSS receiver 12. The calibration
apparatus 50 further acquires the detected angular velocity
Qc of the vehicle 1 from the gyro sensor 20. The calibration
apparatus 50 acquires the detected acceleration Ac of the
vehicle 1 from the acceleration sensor 40.

[0113] Then, at step S202, the calibration apparatus 50
uses the determination acquired at step S200 to determine
whether there is a positional misalignment between the
reference GNSS receiver 10 and the first GNSS receiver 11
or the second GNSS receiver 12. The calibration apparatus
50 thereby determines whether to calibrate the gyro sensor
20 and the acceleration sensor 40.

[0114] If there is a positional misalignment between the
reference GNSS receiver 10 and the first GNSS receiver 11
or the second GNSS receiver 12, the process flow proceeds
to step S204. If there is no positional misalignment between
the reference GNSS receiver 10, the first GNSS receiver 11,
and the second GNSS receiver 12, the process flow proceeds
to step S206.

[0115] At step S204 subsequent to step S202, there is a
positional misalignment between the reference GNSS
receiver 10 and the first GNSS receiver 11 or the second
GNSS receiver 12. In such cases where there is a positional
misalignment between the reference GNSS receiver 10 and
the first GNSS receiver 11 or the second GNSS receiver 12,
as will be described below, the accuracy of values for the
gyro sensor 20 and the acceleration sensor 40 calibrated by
the calibration apparatus 50 is reduced as compared to cases
where there is no positional misalignment between the
reference GNSS receiver 10, the first GNSS receiver 11, and
the second GNSS receiver 12.

[0116] Therefore, for example, the calibration apparatus
50 does not calibrate the gyro sensor 20 and the acceleration
sensor 40 and transmits a signal indicating that the gyro
sensor 20 and the acceleration sensor 40 are not to be
calibrated to a notification device (not shown). This notifi-
cation device notifies the driver of the vehicle 1 of the gyro
sensor 20 and the acceleration sensor 40 being not to be
calibrated, for example by means of sound and light. The
process flow then returns to step S200.

[0117] At step S206 subsequent to step S202, there is no
positional misalignment between the reference GNSS
receiver 10, the first GNSS receiver 11, and the second
GNSS receiver 12. In such cases where there is no positional
misalignment between the reference GNSS receiver 10, the
first GNSS receiver 11, and the second GNSS receiver 12,
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the accuracy of values for the gyro sensor 20 and the
acceleration sensor 40 calibrated by the calibration appara-
tus 50 is higher than in cases where there is a positional
misalignment between the reference GNSS receiver 10 and
the first GNSS receiver 11 or the second GNSS receiver 12.

[0118] Therefore, the calibration apparatus 50 calibrates
the gyro sensor 20 and the acceleration sensor 40. To this
end, the calibration apparatus 50 calculates the first relative
position vector P1 and the second relative position vector P2
in the same manner as at step S102 above.

[0119] Then, at step S208, the calibration apparatus 50
estimates, in the same manner as at step S104 above, the
attitude quantity q and the change in attitude quantity Aq of
the vehicle 1 based on the first relative position vector P1
and the second relative position vector P2 calculated at step
S206. Step S206 is performed by the relative position
calculator 51 that corresponds to a position calculator. Step
S208 is performed by the attitude estimator 52.

[0120] Then, at step S210, the calibration apparatus 50
calculates the estimated angular velocity Qe of the vehicle
1 based on the attitude quantity q and the change in attitude
quantity Aq estimated at step S208. Step S210 is performed
by the angular velocity estimator 55.

[0121] For example, the calibration apparatus 50 substi-
tutes the attitude quantity q and the change in attitude
quantity Aq estimated at step S208 into the following
relational expression (11). The calibration apparatus 50
thereby calculates the estimated angular velocity Qe of the
vehicle 1. In the relational expression (11), weg is an angular
velocity about the X-axis, of the estimated angular velocity
Qe, in the vehicle coordinate system 2. we is an angular
velocity about the Y-axis, of the estimated angular velocity
Qe, in the vehicle coordinate system Z. wef is an angular
velocity about the Z-axis, of the estimated angular velocity
Qe, in the vehicle coordinate system X. The superscript ‘T’
is the matrix transpose operator. The superscript ‘=1 is the
matrix inverse operator. t is an integer equal to or greater
than 0 and represents the number of updates. q0(t) is qO of
the components of the attitude quantity q updated for the t*
time. ql(t) is q1 of the components of the attitude quantity
q updated for the t* time. q2(t) is q2 of the components of
the attitude quantity q updated for the t* time. q3(t) is q3 of
the components of the attitude quantity q updated for the t*
time.

Ae =

aez,

aex
aey |=g' x
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Qe =(GTx &' xGT xAgq an
g0 Ag0 g0(0) —g0(z - 1)
wey
gl Agl ql() —glz-1)
Qe=|wey | g= Ag= =
92 Ag2 q2(0) - q2(r - 1)
wel
g3 Ag3 g3 —qg3(z-1)
-ql -q2 -43
0 3 2
G=05x%x 7 7 7
93 40 4l
92 gl 40
[0122] At step S212, the calibration apparatus 50 esti-

mates the angular velocity error £€2 based on the estimated
angular velocity Qe calculated at step S210 and the detected
angular velocity Qc acquired from the gyro sensor 20 at step
S200. Details of estimation of the angular velocity error £Q
will be described later. Step S212 is performed by the
angular velocity error estimator 56 that corresponds to an
error estimator.

[0123] At step S214, based on the angular velocity error
eQ estimated at step S212, the calibration apparatus 50
calibrates the detected angular velocity £2¢ acquired from
the gyro sensor 20 at step S200. Details of calibration of the
detected angular velocity Qc will be described later. Step
S214 is performed by the gyro calibrator 57 that corresponds
to a calibrator.

[0124] At step S216, the calibration apparatus 50 calcu-
lates an estimated acceleration Ae of the vehicle 1 based on
the attitude quantity q estimated at step S208. Step S216 is
performed by the acceleration estimator 58.

[0125] Specifically, since the acceleration sensor 40 is
subjected to gravity, the calibration apparatus 50 substitutes
q0, q1, g2, and q3 of the attitude quantity q estimated at step
S208 into the following relational expression (12). The
calibration apparatus 50 thereby estimates the estimated
acceleration Ae of the vehicle 1. In the relational expression
(12), aex is an X-directional component of the estimated
acceleration Ae of the vehicle 1 in the vehicle coordinate
system Z. aey is a Y-directional component of the estimated
acceleration Ae of the vehicle 1 in the vehicle coordinate
system Z. aez is a Z-directional component of the estimated
acceleration Ae of the vehicle 1 in the vehicle coordinate
system 2. g represents the gravitational acceleration. The
superscript “~1” means the conjugate quaternion.

0 0 (12)
0|xg=0x|0
g g

gl =g0—qlxi-g2xj—g3xk

0% +g1% —g2% —g3% 2x(glxg2+4g0xg3) 2x(gl xg3-g0xg2)

0=|2x(glxq2—g0xg3) g0%—ql?+¢2> —g3% 2x(g2xg3+g0xql)

2x (gl xg3+q0xq2) 2x(g2xq3—q0xql) q0%—ql%—g2% + ¢3°
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[0126] At step S218, the calibration apparatus 50 esti-
mates the acceleration error €A based on the estimated
acceleration Ae calculated at step S216 and the detected
acceleration Ac acquired from the acceleration sensor 40 at
step S200, estimated. Details of estimation of the accelera-
tion error e A will be described later. Step S218 is performed
by the acceleration error estimator 59 that corresponds to an
error estimator.

[0127] At step S220, the calibration apparatus 50 cali-
brates the detected acceleration Ac acquired from the accel-
eration sensor 40 at step S200 based on the acceleration error
eA estimated at step S218. Details of calibration of the
detected acceleration Ac will be described later. Step S220
is performed by the acceleration calibrator 60 that corre-
sponds to the calibrator.

[0128] At step S222, the calibration apparatus 50 outputs
the calibrated angular velocity €2c_cal calculated at step
S214 and the calibrated acceleration Ac_cal calculated at
step S220 to the outside. Thereafter, the process flow returns
to step S200.

[0129] Next, how the calibration apparatus 50 estimates
the angular velocity error &€ at step S212 will be described.
[0130] The following terms are defined herein to describe
estimation of the angular velocity error &€2.

[0131] The angular velocity about the X-axis in the
vehicle coordinate system X, of the angular velocity Qc
detected by the gyro sensor 20, is referred to as a detected
roll rate wcg. The angular velocity about the Y axis in the
vehicle coordinate system X, of the angular velocity Qc
detected by the gyro sensor 20, is referred to as a detected
pitch rate wcy. The angular velocity about the Z-axis in the
vehicle coordinate system 2, of the detected angular velocity
Qc by the gyro sensor 20, is referred to as a detected yaw
rate wcB. Each of the detected roll rate weg, the detected
pitch rate werp, and the detected yaw rate mcO is detected in,
for example, rad/s, where rad means radians.

[0132] The amount by which the detected roll rate wce
changes when the angular velocity about the X-axis in the
vehicle coordinate system Z of the vehicle 1, that is, the roll
rate of the vehicle 1, changes by a unit amount, is the roll
rate sensitivity eqpgp. The amount by which the detected pitch
rate wc changes when the angular velocity about the Y-axis
in the vehicle coordinate system X of the vehicle 1, that is,
the pitch rate of vehicle 1, changes by a unit amount, is the
pitch rate sensitivity eln. The amount by which the detected
yaw rate mcO changes when the angular velocity about the
Z-axis in the vehicle coordinate system 2 of the vehicle 1,
that is, the yaw rate of the vehicle 1, changes by a unit
amount, is the yaw rate sensitivity £é06. The unit for each of
the roll rate sensitivity e, the pitch rate sensitivity eyn},
and the yaw rate sensitivity €00 is dimensionless.

[0133] The amount by which the detected roll rate wce
changes when the angular velocity about the Y-axis in the
vehicle coordinate system Z of the vehicle 1, that is, the pitch
rate of the vehicle 1, changes by a unit amount, is the
pitch-roll cross-axis sensitivity eyg. The amount by which
the detected roll rate wcp changes when the angular velocity
about the Z-axis in the vehicle coordinate system X of the
vehicle 1, that is, the yaw rate of the vehicle 1, changes by
a unit amount, is the yaw-roll cross-axis sensitivity eep. The
amount by which the detected pitch rate wcy changes when
the angular velocity about the X-axis in the vehicle coordi-
nate system 2 of the vehicle 1, that is, the roll rate of the
vehicle 1, changes by a unit amount, is the roll-pitch
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cross-axis sensitivity e@y. The amount by which the
detected pitch rate mcy changes when the angular velocity
about the Z-axis in the vehicle coordinate system X of the
vehicle 1, that is, the yaw rate of the vehicle 1, changes by
a unit amount, is the yaw-pitch cross-axis sensitivity e.
The amount by which the detected yaw rate wcb changes
when the angular velocity about the X-axis in the vehicle
coordinate system 2 of the vehicle 1, that is, the roll rate of
the vehicle 1, changes by a unit amount, is the roll-yaw
cross-axis sensitivity e@f. The amount by which the
detected yaw rate wcB changes when the angular velocity
about the Y-axis in the vehicle coordinate system X of the
vehicle 1, that is, the pitch rate of the vehicle 1, changes by
a unit amount, is the pitch-yaw cross-axis sensitivity .
The unit for each of the pitch-roll cross-axis sensitivity ey,
the yaw-roll cross-axis sensitivity e0¢, the roll-pitch cross-
axis sensitivity eq), the yaw-pitch cross-axis sensitivity
e, the roll-yaw cross-axis sensitivity eqf, the pitch-yaw
cross-axis sensitivity ey0 is dimensionless

[0134] The detected roll rate weg when the angular veloc-
ity about the X-axis in the vehicle coordinate system X of the
vehicle 1, that is, the roll rate of the vehicle 1 is zero, is
referred to as a roll rate zero error e¢0. the detected pitch
rate wcp when the angular velocity about the Y axis in the
vehicle coordinate system 2 of vehicle 1, that is, the pitch
rate of vehicle 1, is zero is referred to as a pitch rate zero
error 0. The detected yaw rate wcO when the angular
velocity about the Z axis in the vehicle coordinate system X
of'the vehicle 1, that is, the yaw rate of the vehicle 1 is zero,
is referred to as a yaw rate zero error €60. The unit for each
of the roll rate zero error e0, the pitch rate zero error g0,
and the yaw rate zero error €00 is, for example, rad/sec,
where rad means radians.

[0135] The angular velocity error eQ is represented by a
12-dimensional number vector, as shown in the following
relation (13). Components of this angular velocity error £€2
include the roll rate sensitivity eqq, the pitch rate sensitivity
eynp, and the yaw rate sensitivity €06. The components of
the angular velocity error eQ further include the roll-pitch
cross-axis sensitivity e, the roll-yaw cross-axis sensitivity
g0, the pitch-roll cross-axis sensitivity ey, the pitch-yaw
cross-axis sensitivity ey, the yaw-roll cross-axis sensitivity
e0¢, and the yaw-pitch cross-axis sensitivity et. The
components of the angular velocity error eQ further include
the roll rate zero error e@0, the pitch rate zero error e1p0, and
the yaw rate zero error £00. In the relational expression (13),
the superscript “T” is the matrix transpose operator.

eQ=

[eqpyeyppe00eppeOpegpetpepdeyOepleyp0e00] (13)
[0136] Then, the calibration apparatus 50 estimates the
angular velocity error £eQ using, for example, a Kalman
filter.
[0137] Specifically, the calibration apparatus 50 uses a
state equation in which the angular velocity error eQ is a
state vector, as shown in the following relation (14-1) below.
The calibration apparatus 50 uses an observation equation in
which the detected angular velocity €2c detected by the gyro
sensor 20 is an observation vector, as shown in relational
expression (14-2) below. It is assumed that there is no noise
in the following state equation and observation equation. t is
an integer equal to or greater than 0 and represents the
number of updates. eQ(t) is the angular velocity error e€2
during the t” update. C is a state transition matrix from eQ(t)
to e€Q(t+1). This state transition matrix for angular velocity
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C is a 12x12 identity matrix, for example, as shown in
relational expression (14-3) below. M(t) is an observation
matrix that converts eQ(t) to Qc(t). Furthermore, this obser-
vation matrix for angular velocity M is the matrix repre-
sented by we@, wep, and webd estimated at step S210, as
shown in the following relation (14-4) below. As described
above, weg is the angular velocity about the X-axis in the
vehicle coordinate system 2, of the estimated angular veloc-
ity Qe. wey is the angular velocity about the Y-axis in the
vehicle coordinate system 2, of the estimated angular veloc-
ity Qe. we0 is the angular velocity about the Z-axis in the
vehicle coordinate system 2, of the estimated angular veloc-
ity Qe.

eQ(r+1) = CxeQn) (14-1)

Qe() = M (1) % 200 142
100000000000 (14-3)
010000000000
001000000000
000100000000
000010000000
000001000000

“=looo000100000
000000010000
000000001000
000000000100
000000000010
000000000001

M@ = (14-4)
wep 0 0 wey wef 0O 0 0 0

1
0 wey 0 0 0 wep wef 0 0 0
0 0 wef 0 0 0 0 0

[0138] The calibration apparatus 50 estimates the angular
velocity error £Q using, for example, the relational expres-
sions (15-1) to (15-5). In the following relational expres-
sions, G(t) is the Kalman gain during the t* update. Po is
the error covariance matrix of the angular velocity error eQ,
and Pw(tlt-1) is the priori error covariance matrix that is a
predicted value of the error covariance matrix for angular
velocity Pw during the t” update based on the information of
up to the (t-1)" update. Pw(tlt) is the error covariance matrix
for angular velocity Pw based on the information of up to the
" update. Q(tlt-1) is the priori estimate that is a predicted
value of the angular velocity error Q2 based on the infor-
mation of up to the (t-1)* update. eQ(tlt) is the posteriori
estimate that is the optimal estimate of the angular velocity
error £€ based on the information of up to the t* update. 1
is the identity matrix. The superscript ‘1’ is the matrix
transpose operator. The superscript ‘-1’ is the matrix inverse
operatotr.

Po(tlt-1)=CxPo(t=11t=1)xCT (15-1)
eQ(tle-1)=CxeQ(t-112-1) (15-2)

Go(H)=Pw(tlt-1)xM(0) Tx{M()x Pw(tlz-1)xM(2) T} (15-3)
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eQ(11)=eQ(111- 1)+ Go()x{Qe(t)-M(1)xeQ(t1-1) } (15-4)
Pt ={I-Gu(H)xM(t) }xPw(tlt-1) (15-5)
[0139] Specifically, in the case of the t” update, at step

S212, the calibration apparatus 50 substitutes the state
transition matrix for angular velocity C, the error covariance
matrix for angular velocity Pw in the previous control cycle,
and the transposed matrix of the state transition matrix for
angular velocity C into the above relational expression
(15-1). The calibration apparatus 50 thereby calculates
Pw(tlt-1). Pw(tit-1) is the predicted value of the error
covariance matrix for the angular velocity Pw in the current
control cycle. Since the state transition matrix for angular
velocity C is the identity matrix, Pw(tlt-1) is the same as the
error covariance matrix for angular velocity Pw in the
previous control cycle. Furthermore, the initial value of the
error covariance matrix for angular velocity Pw is set, for
example, by experiment, simulation, or the like.

[0140] The calibration apparatus 50 also substitutes the
state transition matrix for angular velocity C and the angular
velocity error £€2 in the previous control cycle into the above
relational expression (15-2). The calibration apparatus 50
thereby calculates eQ(tlt—1). eQ(tlt-1) is a predicted value
of the angular velocity error €2 in the current control cycle.
Since the state transition matrix for angular velocity C is the
identity matrix here, eQ(tlt-1) is the same as the angular
velocity error £Q in the previous control cycle. Furthermore,
the initial value of the angular velocity error eQ is set, for
example, by experiment, simulation, or the like.

[0141] The calibration apparatus 50 substitutes weq, we,
and web estimated at step S210 in the current control cycle
into the above relational expression (14-4). The calibration
apparatus 50 thereby calculates the observation matrix for
angular velocity M(t) in the current control cycle. As
described above, wep is the angular velocity about the
X-axis in the vehicle coordinate system, of the estimated
angular velocity Qe. we is the angular velocity about the
Y-axis in the vehicle coordinate system X, of the estimated
angular velocity Qe. we0 is the angular velocity about the
Z-axis in the vehicle coordinate system 2, of the estimated
angular velocity Qe.

[0142] The calibration apparatus 50 substitutes the above-
calculated Pw(tlt-1), the above-calculated observation
matrix for angular velocity M(t), and the transposed matrix
of this observation matrix for angular velocity M(t) into the
above-mentioned relational expression (15-3). The calibra-
tion apparatus 50 thereby calculates the Kalman gain for
angular velocity Go(t) in the current control cycle.

[0143] The calibration apparatus 50 generates an obser-
vation vector for angular velocity in the current control cycle
from each component of the detected angular velocity Qc
acquired from the gyro sensor 20 at step S200. As described
above, the components of the detected angular velocity Qc
acquired from the gyro sensor 20 are the detected roll rate
weep, the detected pitch rate werp, and the detected yaw rate
wch. The detected roll rate weg is an angular velocity about
the X-axis in the vehicle coordinate system X, of the detected
angular velocity Qc. The detected pitch rate wcy is an
angular velocity about the Y-axis in the vehicle coordinate
system Z, of the detected angular velocity Qc. The detected
yaw rate wcO is an angular velocity about the Z-axis in the
vehicle coordinate system 2, of the detected angular velocity
Qc.

[0144] The calibration apparatus 50 substitutes the above
calculated eQ(tlt—1), the above calculated Kalman gain for
angular velocity Go(t), the above generated observation
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vector for angular velocity, and the above calculated obser-
vation matrix for angular velocity M(t) into the relational
expression (15-4). The calibration apparatus 50 thereby
calculates the angular velocity error eQ(tlt) in the current
control cycle.

[0145] The calibration apparatus 50 substitutes the iden-
tity matrix I, the above calculated Kalman gain for angular
velocity Gm(t), the above calculated observation matrix for
angular velocity M(t), and the above calculated Pw(tlt-1)
into (15-5). The calibration apparatus 50 thereby calculates
the error covariance matrix for angular velocity Pw(tlt) in
the current control cycle. Therefore, in the next control
cycle, the calibration apparatus 50 can calculate Pw(t+11t)
using the calculated error covariance matrix for angular
velocity Pw(tlt) in the current control cycle. Po(t+11t) is a
predicted value of the error covariance matrix for angular
velocity Pw in the next control cycle.

[0146] In this way, the calibration apparatus 50 estimates
the angular velocity error €.

[0147] Next, how the calibration apparatus 50 calibrates
the gyro sensor 20 at step S214 will be described.

[0148] In the case of the t* update, the calibration appa-
ratus 50 substitutes each component of the angular velocity
error €2 estimated at step S212 and each component of the
detected angular velocity Qc acquired from the gyro sensor
20 at step S200 into the following relational expression (16).
The calibration apparatus 50 thereby calculates the cali-
brated angular velocity Qc_cal. As described above, the
calibrated angular velocity Qc_cal is the detected angular
velocity Qc calibrated by the calibration apparatus 50. In the
relational expression (16), wep_cal is an angular velocity
component about the X-axis in the vehicle coordinate sys-
tem 2, of the calibrated angular velocity Qc_cal. mcy_cal is
an angular velocity component about the Y-axis in the
vehicle coordinate system Z, of the calibrated angular veloc-
ity Qc_cal. mcO_cal is an angular velocity component about
the Z-axis in the vehicle coordinate system Z, of the cali-
brated angular velocity Qc_cal. The superscript ‘T’ is the
matrix transpose operator. The superscript ‘—1’ is the matrix
inverse operator.

wep_cal spp e Bt [ wep — el (16)
Qc cal=| wey_cal |=|epy ey O | x| wey — Pl
weh_cal e syl 00 wel — 80

[0149] In this way, the calibration apparatus 50 calibrates

the gyro sensor 20.

[0150] Next, how the calibration apparatus 50 estimates
the acceleration error A at step S218 will be described.

[0151] To describe how to estimate the acceleration error
€A, some terms are defined as follows.

[0152] The X-axis directional component of the detected
acceleration Ac detected by the acceleration sensor 40, in the
vehicle coordinate system 2, is referred to as an X-direc-
tional acceleration acx. The Y-axis directional component of
the detected acceleration Ac detected by the acceleration
sensor 40, in the vehicle coordinate system 2., is referred to
as a Y-directional acceleration acy. The Z-axis directional
component of the detected acceleration Ac detected by the
acceleration sensor 40, in the vehicle coordinate system X,
is referred to as a Z-directional acceleration acz.
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[0153] The amount by which the X-directional accelera-
tion acx changes when the X-directional acceleration in the
vehicle coordinate system X of vehicle 1 changes by a unit
amount is the X-directional acceleration sensitivity exx. The
amount by which the Y-directional acceleration acy changes
when the Y-directional acceleration in the vehicle coordinate
system 2 of vehicle 1 changes by a unit amount is the
Y-directional acceleration sensitivity eyy. The amount by
which the Z-directional acceleration acz changes when the
Z-directional acceleration in the vehicle coordinate system Z
of vehicle 1 changes by a unit amount is the Z-directional
acceleration sensitivity ezz.

[0154] The amount by which the X-directional accelera-
tion acx changes when the Y-axis directional acceleration in
the vehicle coordinate system Z of the vehicle 1 changes by
a unit amount is referred to as the YX cross-axis sensitivity
eyX. The amount by which the X-directional acceleration
acx changes when the Z-axis directional acceleration in the
vehicle coordinate system 2 of the vehicle 1 changes by a
unit amount is referred to as the ZX cross-axis sensitivity
ezx. The amount by which the Y-directional acceleration acy
changes when the X-axis directional acceleration in the
vehicle coordinate system 2 of the vehicle 1 changes by a
unit amount is referred to as the XY cross-axis sensitivity
exy. The amount by which the Y-directional acceleration acy
changes when the Z-axis directional acceleration in the
vehicle coordinate system 2 of the vehicle 1 changes by a
unit amount is referred to as the ZY cross-axis sensitivity
ezy. The amount by which the Z-directional acceleration acz
changes when the X-axis directional acceleration in the
vehicle coordinate system 2 of the vehicle 1 changes by a
unit amount is referred to as the X7 cross-axis sensitivity
exz. The amount by which the Z-directional acceleration acz
changes when the Y-axis directional acceleration in the
vehicle coordinate system 2 of the vehicle 1 changes by a
unit amount is referred to as the YZ cross-axis sensitivity
eyz. The X-directional acceleration sensitivity exx, the Y-di-
rectional acceleration sensitivity eyy, and the Z-directional
acceleration sensitivity ezz are dimensionless. The YX
cross-axis sensitivity eyx, the ZX cross-axis sensitivity ezx,
the XY cross-axis sensitivity exy, the ZY cross-axis sensi-
tivity ezy, the X7 cross-axis sensitivity exz, the YZ cross-
axis sensitivity eyz are dimensionless.

[0155] The X-directional acceleration acx when the
X-axis directional component of the acceleration of the
vehicle 1 in the vehicle coordinate system X is zero is
referred to as an X-directional zero error ex0. The Y-direc-
tional acceleration acy when the Y-axis directional compo-
nent of the acceleration of the vehicle 1 in the vehicle
coordinate system X is zero is referred to as a Y-directional
zero error £y0. The Z-directional acceleration acz when the
Z-axis directional component of the acceleration of the
vehicle 1 in the vehicle coordinate system X is zero is
referred to as a Z-directional zero error £z0.

[0156] The acceleration error €A is represented by a
12-dimensional number vector, as shown in the following
relational expression (17). In the relational expression (17),
The superscript “T” is the matrix transpose operator.

ed=[exxeyyezzeyxezxexyezyexzeyzex0 ey0 €201 17)
[0157] The calibration apparatus 50 estimates the accel-
eration error €A using, for example, a Kalman filter.

[0158] Specifically, the calibration apparatus 50 uses a
state equation in which the acceleration error €A is a state
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vector, as shown in the following relational expression
(18-1). The calibration apparatus 50 uses an observation
equation in which the detected acceleration Ac detected by
the acceleration sensor 40 is an observation vector, as shown
in the following relational expression (18-2). In the state
equation and the observation equation below, it is assumed
that there is no noise. t is an integer equal to or greater than
0 and represents the number of updates. e A(t) is the accel-
eration error A during the t* update. D is a state transition
matrix from e A(t) to e A(t+1). This state transition matrix for
acceleration D is a 12x12 identity matrix, for example, as
shown in the following relational expression (18-3). Fur-
thermore, this observation matrix for acceleration N is a
matrix represented by aex, aey, aez of the estimated accel-
eration Ae calculated at step S216, as shown in the following
relational expression (18-4). As described above, aex is the
X-directional component of the estimated acceleration Ae in
the vehicle coordinate system Z. aey is the Y-directional
component of the estimated acceleration Ae in the vehicle
coordinate system Z. aez is the Z-directional component of
the estimated acceleration Ae in the vehicle coordinate
system 2.

AT+ 1) = DXeAQD) (18-1)

Ac(t) = N(n) X eA(D) (18-2)
100000000O0O0O0 (18-3)
01 0000CO0ODO0ODO0ODO0ODO0OOQO
0010000O0O0O0O0OQO
000100000O0O0O0
000010000O0O0O0
000001000O0O0O0
P=lo 00000100000
00000001 O0O0O0O0
00000O0DO0ODO0OL1O0O0O0
000000O0ODO0ODODTL1O0OO0
00000O0DO0ODO0ODODODT1O0
00000O0DO0ODO0ODO0DO0OOI1
aex 0 0 aey aez 0 0 0 0 1007] 84
N@n=| 0 aey 0 0 0 aex aez 0 0 010
0 0 aez O 0 0 0 aex aey 0 0 1

[0159] In addition, the calibration apparatus 50 estimates
the acceleration error e A using, for example, the following
relational expressions (19-1) to (19-5). In the following
relational expressions, Ga(t) is the Kalman gain during the
t* update. Pa is an error covariance matrix of the accelera-
tion error eA. Pa(tlt-1) is a priori error covariance matrix
that is a predicted value of the error covariance matrix for
acceleration Pa during the t” update based on information of
up to the (t—1)* update. Pa(tlt) is the error covariance matrix
for acceleration Pa based on the information of up to the t*
update. e A(tlt-1) is a priori estimate that is a predicted value
of the acceleration error eA during the t* update based on
information of up to the (t-1)" update. eA(tIt) is a posteriori
estimate that is the optimal estimate of the acceleration error
A based on information of up to the t* update. I is the
identity matrix. The superscript ‘T’ is the matrix transpose
operator. The superscript ‘-1’ is the matrix inverse operator.

Pa(tlt-1)=DxPa(t-11t-1)xD” (19-1)

eA(11-1)=Dxed(i-111-1) (19-2)
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Ga(H)=Pa(tlt-DxN@B*{N({t)xPa(tlt-1)xN@®) T} ! (19-3)
ed(1lN=eA(t1t-1)+Ga()x{Ac(t)-N(t)xeA(t1--1)} (19-4)
Pa(tlty={I-Ga()xN(®) }xPa(tlt-1) (19-5)
[0160] Specifically, in the case of the t” update, at step

S220, the calibration apparatus 50 substitutes the state
transition matrix for acceleration D, the error covariance
matrix for acceleration Pa in the previous control cycle, and
the transposed matrix of the state transition matrix for
acceleration D into the above relational expression (19-1).
The calibration apparatus 50 thereby calculates Pa(tlt-1).
Pa(tlt-1) is the predicted value of the error covariance
matrix for acceleration Pa in the current control cycle. Since
the state transition matrix for acceleration D is the identity
matrix, Pa(tlt-1) is the same as the error covariance matrix
for acceleration Pa(t-11t-1) in the previous control cycle. In
addition, the initial value of the error covariance matrix for
acceleration Pa is set, for example, by experiment, simula-
tion, or the like.

[0161] Inaddition, the calibration apparatus 50 substitutes
the state transition matrix for acceleration D and the accel-
eration error €A in the previous control cycle into the
above-mentioned relational expression (19-2). The calibra-
tion apparatus 50 thereby calculates eA(tlt-1). eA(tlt-1) is a
predicted value of the acceleration error €A in the current
control cycle. Since the state transition matrix for accelera-
tion D is the identity matrix here, e A(tlt-1) is the same as the
acceleration error e A(t-11t-1) in the previous control cycle.
The initial value of the acceleration error €A is set, for
example, by experiment, simulation, or the like.

[0162] The calibration apparatus 50 substitutes aex, aey,
and aez estimated at step S216 in the current control cycle
into the above-mentioned relational expression (18-4). The
calibration apparatus 50 thereby calculates the observation
matrix for acceleration N(t) in the current control cycle. As
described above, aex is the X-directional component of the
estimated acceleration Ae in the vehicle coordinate system
2. aey is the Y-directional component of the estimated
acceleration Ae in the vehicle coordinate system Z. aez is the
Z. directional component of the estimated acceleration Ae in
the vehicle coordinate system X.

[0163] The calibration apparatus 50 substitutes the above-
calculated Pa(tit-1), the above-calculated observation
matrix for acceleration N(t), and the transposed matrix of
this observation matrix for acceleration N(t) into the above-
mentioned relational expression (19-3). The calibration
apparatus 50 thereby calculates the Kalman gain for accel-
eration Ga(t) in the current control cycle.

[0164] The calibration apparatus 50 generates the obser-
vation vector for acceleration in the current control cycle
from components of the detected acceleration Ac acquired
from the acceleration sensor 40 at step S200. The compo-
nents of the detected acceleration Ac acquired from the
acceleration sensor 40 are the X-directional acceleration
acx, the Y-directional acceleration acy, and the Z-directional
acceleration acz. As described above, the X-directional
acceleration acx is the X-axis directional component of the
detected acceleration Ac in the vehicle coordinate system .
The Y-directional acceleration acy is the Y-axis directional
component of the detected acceleration Ac in the vehicle
coordinate system 2. The Z-directional acceleration acz is
the Z-axis directional component of the detected accelera-
tion Ac in the vehicle coordinate system .
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[0165] Inaddition, the calibration apparatus 50 substitutes
the eA(tlt-1) calculated above, the Kalman gain for accel-
eration Ga(t) calculated above, the observation vector for
acceleration generated above, and the observation matrix for
acceleration N(t) calculated above into the relational expres-
sion (19-4). The calibration apparatus 50 thereby calculates
the acceleration error eA(tlt) in the current control cycle.
[0166] The calibration apparatus 50 substitutes the iden-
tity matrix I, the Kalman gain for acceleration Ga(t) calcu-
lated above, the observation matrix for acceleration N(t)
calculated above, and Pa(tlt-1) calculated above into (19-5).
The calibration apparatus 50 thereby calculates the error
covariance matrix for acceleration Pa(tlt) in the current
control cycle. Therefore, in the next control cycle, the
calibration apparatus 50 can calculate Pa(t+1It) using the
calculated error covariance matrix for acceleration Pa(tlt) in
the current control cycle. Pa(t+11t) is a predicted value of the
error covariance matrix for acceleration Pa in the next
control cycle.

[0167] In this way, the calibration apparatus 50 estimates
the acceleration error eA.

[0168] Next, how the calibration apparatus 50 calibrates
the acceleration sensor 40 at step S220 will be described.
[0169] In the case of the t update, the calibration appa-
ratus 50 substitutes each component of the acceleration error
eA estimated at step S218 and each component of the
detected acceleration Ac acquired from the acceleration
sensor 40 at step S200 into the following relational expres-
sion (20). The calibration apparatus 50 thereby calculates the
calibrated acceleration Ac_cal. The calibrated acceleration
Ac_cal is the detected acceleration Ac calibrated by the
calibration apparatus 50. In the relational expression (20),
acx_cal is an X-axis directional component of the calibrated
acceleration Ac_cal in the vehicle coordinate system 2.
acy_cal is a Y-axis directional component of the calibrated
acceleration Ac_cal in the vehicle coordinate system 2.
acz_cal is a Z-axis directional component of the calibrated
acceleration Ac_cal in the vehicle coordinate system Z. The
superscript ‘=1 is the matrix inverse operator.

acx_cal exx eyx ezx|' [acx—ex0 20)
Ac_cal=|acy_cal |=|exy eyy &gy x| acy —ey0
acz_cal exg &y €32 acz —ez0

[0170] In this way, the calibration apparatus 50 calibrates
the acceleration sensor 40.

[0171] As described above, the calibration apparatus 50
calibrates the gyro sensor 20 and the acceleration sensor 40.
[0172] It will now be described that it is possible for the
calibration apparatus 50 to calibrate the gyro sensor 20 and
the acceleration sensor 40, whether the vehicle 1 is stopped
or traveling.

[0173] The calibration apparatus 50, at step S206, esti-
mates the attitude quantity q and the change in attitude
quantity Aq of the vehicle 1 based on the first relative
position vector P1 and the second relative position vector
P2.

[0174] As described above, the first relative position vec-
tor P1 is a vector representing a relative position of the first
GNSS receiver 11 to a position of the reference GNSS
receiver 10 in the absolute coordinate system Zo. The second
relative position vector P2 is a vector representing a relative
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position of the second GNSS receiver 12 to the position of
the reference GNSS receiver 10 in the absolute coordinate
system 2o0. The reference GNSS receiver 10, the first GNSS
receiver 11, and the second GNSS receiver 12 are disposed
in the vehicle 1. Therefore, the first relative position vector
P1 and the second relative position vector P2 do not vary,
whether the vehicle 1 is stopped or traveling. Therefore,
whether the vehicle 1 is stopped or traveling, the calibration
apparatus 50 can estimate the attitude quantity q and the
change in attitude quantity Aq of the vehicle 1.

[0175] In addition, the calibration apparatus 50 estimates,
at step S210, the estimated angular velocity Qe based on the
attitude quantity q and the change in attitude quantity Aq.
The calibration apparatus 50 further estimates, at step S212,
the angular velocity error Q2 of the vehicle 1 based on this
estimated angular velocity e and the detected angular
velocity Qc detected by the gyro sensor 20. The calibration
apparatus 50 calibrates the detected angular velocity Qc
detected by the gyro sensor 20 based on this angular velocity
error £Q at step S214. Therefore, the calibration apparatus
50 can calibrate the gyro sensor 20 whether the vehicle 1 is
stopped or traveling.

[0176] Further, the calibration apparatus 50 estimates, at
step S216, the estimated acceleration Ae based on this
attitude quantity q. The calibration apparatus 50, at step
S218, estimates the acceleration error €A of the vehicle 1
based on the estimated acceleration Ae and the detected
acceleration Ac detected by the acceleration sensor 40. The
calibration apparatus 50 calibrates, at step S220, the detected
acceleration Ac detected by the acceleration sensor 40 based
on this acceleration error gA. Therefore, the calibration
apparatus 50 can calibrate the acceleration sensor 40
whether the vehicle 1 is stopped or traveling.

[0177] The calibration apparatus 50 can also provide the
following advantages.

[0178] As described above, the calibration apparatus 50
estimates the attitude quantity q and the change in attitude
quantity Aq of the vehicle 1 based on the first relative
position vector P1 and the second relative position vector
P2.

[0179] In cases where there is a positional misalignment
between the reference GNSS receiver 10 and the first GNSS
receiver 11 or the second GNSS receiver 12, values of the
first relative position vector P1 and the second relative
position vector P2 may change. This reduces the accuracy of
the attitude quantity q and the change in attitude quantity Aq
of the vehicle 1 and thus reduces the accuracy of the values
for the gyro sensor 20 and the acceleration sensor 40
calibrated by the calibration apparatus 50.

[0180] Thus, the calibration apparatus 50 determines
whether there is a positional misalignment between the
reference GNSS receiver 10 and the first GNSS receiver 11
or the second GNSS receiver 12.

[0181] More specifically, the calibration apparatus 50 cal-
culates, at step S106, the yaw angle 6 of the vehicle 1 based
on the attitude quantity q. Further, the calibration apparatus
50 calculates, at step S110, the reference receiver velocity
Vref, the first receiver velocity V1, and the second receiver
velocity V2 based on the reference data Dref, the first data
D1, and the second data D2. The calibration apparatus 50
also calculates the estimated yaw angle 0e of the vehicle 1
based on the reference receiver velocity Vref, the first
receiver velocity V1, and the second receiver velocity V2 at
step S112. As described above, the reference data Dref is
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data transmitted from the reference GNSS receiver 10 to the
calibration apparatus 50, and includes the wavenumber and
the phase of the carrier wave and the ephemeris from each
positioning satellite with respect to time. The first data D1 is
data transmitted from the first GNSS receiver 11 to the
calibration apparatus 50, and includes the wavenumber and
the phase of the carrier wave and the ephemeris from each
positioning satellite with respect to time. The second data
D2 is data transmitted from the second GNSS receiver 12 to
the calibration apparatus 50, and includes the wavenumber
and the phase of the carrier wave and the ephemeris from
each positioning satellite with respect to time. The ephem-
eris is orbital information of the positioning satellite. The
reference receiver velocity Vref is a velocity vector of the
reference GNSS receiver 10 in the absolute coordinate
system 2o. The first receiver velocity V1 is a velocity vector
of the first GNSS receiver 11 in the absolute coordinate
system 2o. The second receiver velocity V2 is a velocity
vector of the second GNSS receiver 12 in the absolute
coordinate system 2o.

[0182] The calibration apparatus 50, at step S114, deter-
mines, based on the above-calculated yaw angle 6 and the
estimated yaw angle 6e, whether there is a positional mis-
alignment between the reference GNSS receiver 10 and the
first GNSS receiver 11 or the second GNSS receiver 12. This
determination is stored, for example, in RAM of the cali-
bration apparatus 50. The calibration apparatus 50, at step
S202, also reads from the RAM the determination as to
whether there is a positional misalignment between the
reference GNSS receiver 10 and the first GNSS receiver 11
or the second GNSS receiver 12.

[0183] In cases where there is no positional misalignment
between the reference GNSS receiver 10, the first GNSS
receiver 11, and the second GNSS receiver 12, the accuracy
of the attitude quantity q and the change in attitude quantity
Aq of the vehicle 1 is improved. Therefore, in such cases, the
calibration apparatus 50 calibrates the gyro sensor 20 and
the acceleration sensor 40. This improves the accuracy of
calibration of the gyro sensor 20 and the acceleration sensor
40 by the calibration apparatus 50.

[0184] The calibration apparatus 50, at step S108, deter-
mines whether the vehicle speed Vc is equal to or higher
than the vehicle speed threshold Vc_th. In cases where the
vehicle speed Ve is equal to or higher than the vehicle speed
threshold Vc_th, the calibration apparatus 50 calculates the
reference receiver velocity Vref, the first receiver velocity
V1, and the second receiver velocity V2 at step S110.
Where, the reference receiver velocity Vref, the first receiver
velocity V1 and the second receiver velocity V2 are higher
as compared to cases where the vehicle speed Vc is lower
than the vehicle speed threshold Vc_th. This stabilizes
values of the reference receiver velocity Vref, the first
receiver velocity V1, and the second receiver velocity V2,
which improves the accuracy of calculation of the reference
receiver velocity Vref, the first receiver velocity V1, and the
second receiver velocity V2. Therefore, the accuracy of
calculation of the estimated yaw angle Oe at step S112 is
improved.

[0185] Modification

[0186] In one modification, the calibration apparatus 50
differs in process steps from in the above-described embodi-
ment. More specifically, the calibration apparatus 50 further
includes a vehicle stop determiner 65 as a functional block,
as illustrated in FIG. 5.
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[0187] The vehicle stop determiner 65 determines whether
the vehicle 1 is stopped, based on the estimated angular
velocity Qe calculated by the angular velocity estimator 55
described above. The vehicle stop determiner 65 is respon-
sible for execution of step S300 described later.

[0188] When the vehicle 1 is stopped, the acceleration
error estimator 59 estimates the acceleration error e A of the
vehicle 1 based on the estimated acceleration Ae calculated
by the acceleration estimator 58 and the detected accelera-
tion Ac detected by the acceleration sensor 40. The accel-
eration error estimator 59 does not estimate the acceleration
error e A of the vehicle 1 when the vehicle 1 is not stopped.
[0189] Calibration of the gyro sensor 20 and the accelera-
tion sensor 40 performed by the calibration apparatus 50
executing the program according to the modification will
now be described with reference to the flowchart of FIG. 6.
[0190] The process steps from step S200 to step S216 are
the same as above.

[0191] At step S300 subsequent to step S216, the calibra-
tion apparatus 50 determines whether the vehicle 1 is
stopped, based on the estimated angular velocity Qe calcu-
lated at step S210. Step S300 is performed by the vehicle
stop determiner 65.

[0192] More specifically, the calibration apparatus 50
determines whether weg of the estimated angular velocity
Qe is less than a first threshold we_th1, wey of the estimated
angular velocity e is less than a second threshold we_th2,
and web of the estimated angular velocity C2e is less than a
third threshold we_th3. As described above, wep is the
angular velocity about the X-axis, of the estimated angular
velocity Qe, in the vehicle coordinate system Z. wey is the
angular velocity about the Y-axis, of the estimated angular
velocity Qe, in the vehicle coordinate system 2. we is the
angular velocity about the Z-axis, of the estimated angular
velocity Qe, in the vehicle coordinate system X. The first
threshold we_thl, the second threshold we_th2, and the third
threshold we_th3 are set by experiment, simulation, or the
like.

[0193] If wew is less than the first threshold we_thl, wey
is less than the second threshold we_th2, and we0 is less than
the third threshold we_th3, then the calibration apparatus 50
determines that the vehicle 1 is stopped as the angular
velocity of the vehicle 1 is relatively small. Thereafter, the
process flow proceeds to step S218. If wep is equal to or
greater than the first threshold we_thl, or wey is equal to or
greater than the second threshold we_th2, or we@ is equal to
or greater than the third threshold we_th3, then the calibra-
tion apparatus 50 determines that the vehicle 1 is not stopped
as the vehicle 1 is moving. Thereafter, the process tlow
proceeds to step S222.

[0194] At step S218 subsequent to step S300, the calibra-
tion apparatus 50 estimates the acceleration error €A based
on the estimated acceleration Ae calculated at step S216 and
the detected acceleration Ac acquired from the acceleration
sensor 40 at step S200. Since the vehicle 1 is stopped, only
gravity is likely to be applied to the vehicle 1. This reduces
noise detected by the acceleration sensor 40, thus improving
the accuracy of calculation of the acceleration error eA by
the calibration apparatus 50.

[0195] Then, at step S220, the calibration apparatus 50
calibrates, in the same manner as described above, the
detected acceleration Ac acquired from the acceleration
sensor 40 at step S200 based on the acceleration error eA
estimated at step S218.
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[0196] At step S222, if at step S300 the calibration appa-
ratus 50 determines that the vehicle 1 is stopped, the
calibration apparatus 50 outputs the calibrated angular
velocity €2c_cal calculated at step S214 and the calibrated
acceleration Ac_cal calculated at step S220 to the outside. If
at step S300 the calibration apparatus 50 determines that the
vehicle 1 is not stopped, the calibration apparatus 50 outputs
only the calibrated angular velocity Qc_cal calculated at
step S214 to the outside as the detected acceleration Ac is
uncalibrated. Thereafter, the process flow returns to step
S200.

[0197] As described above, the calibration apparatus 50
according to the modification calibrates the gyro sensor 20
and the acceleration sensor 40.

[0198] The modification described above can also provide
the same advantages as the above embodiment. In the
modification, the calibration apparatus 50 estimates the
acceleration error e A when the vehicle 1 is stopped. There-
fore, as described above, noise detected by the acceleration
sensor 40 is reduced, which can improve the accuracy of
calculation of the acceleration error eA by the calibration
apparatus 50.

[0199] The calibration apparatus 50 determines whether
the vehicle 1 is stopped, based on the estimated angular
velocity Qe calculated at step S210. This allows the cali-
bration apparatus 50 to determine whether the vehicle 1 is
stopped without depending on the vehicle speed V¢ detected
by the vehicle speed sensor 30.

Other Embodiments

[0200] The present disclosure should not be limited to the
embodiments described above and can be modified as
deemed appropriate. The above-described embodiments are
not independent from one another, and some of them can be
combined as deemed appropriate unless such a combination
is unreasonable. Needless to say, in the above-described
embodiments, the components of the embodiments should
not be necessarily deemed to be essential unless explicitly
described or they are fundamentally and obviously essential,
for example.

[0201] In the above-described embodiments and modifi-
cations, the calculator, the estimator, the calibrator, and the
determiner and their methods described in the present dis-
closure may be implemented by a dedicated computer
including a processor and a memory programmed to execute
one or more functions embodied by computer programs.
Alternatively, the calculator, the estimator, the calibrator,
and the determiner and their methods described in the
present disclosure may be implemented by a dedicated
computer including a processor formed of one or more
dedicated hardware logic circuits, or may be implemented
by one or more dedicated computers including a combina-
tion of a processor and a memory programmed to execute
one or more functions and a processor formed of one or
more dedicated hardware logic circuits. The computer pro-
grams may be stored, as instructions to be executed by a
computer, in a non-transitory, tangible computer-readable
storage medium.

[0202] In the above-described embodiments, the vehicle 1
is provided with one reference GNSS receiver 10, one first
GNSS receiver 11, and one second GNSS receiver 12. In an
alternative embodiment, the number of reference GNSS
receivers 10 is not limited to one, but may be two or more.
For example, when the number of reference GNSS receivers
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10 is two, the first relative position vector P1 is calculated
based on the reference data Dref from one of the two
reference GNSS receivers 10 and the first data D1 from the
first GNSS receiver 11. The second relative position vector
P2 may be calculated based on the reference data Dref from
the other of the two reference GNSS receivers 10 and the
second data D2 from the second GNSS receiver 12.
[0203] The number of the first GNSS receivers 11 may be
two or more, not limited to one. Further, the number of the
second GNSS receivers 12 may be two or more, not limited
to one.

[0204] The vehicle 1 may be provided with a third GNSS
receiver (not shown) different from any one of the first
GNSS receiver 11 and the second GNSS receiver 12. In such
an alternative embodiment, the first relative position vector
P1 may be calculated based on the reference data Dref from
the reference GNSS receiver 10 and data from the third
GNSS receiver. The second relative position vector P2 may
be calculated based on the reference data Dref from the
reference GNSS receiver 10 and data from the third GNSS
receiver.

[0205] In the above-described embodiments, the calibra-
tion apparatus 50 uses a wavenumber and a phase of the
contemporaneous carrier wave in each of the reference data
Dref and the first data D1 to calculate the first relative
position vector P1 using the Moving Baseline RTK method.
The calibration apparatus 50 uses a wavenumber and a phase
of the contemporaneous carrier wave in each of the data for
reference Dref and the second data D2 to calculate the
second relative position vector P2 using the Moving Base-
line RTK method.

[0206] In an alternative embodiment, the reference GNSS
receiver 10 may calculate an absolute position of the refer-
ence GNSS receiver 10 based on signals from a plurality of
positioning satellites (not shown). The reference GNSS
receiver 10 may also transmit data of this calculated absolute
position of the reference GNSS receiver 10 to the calibration
apparatus 50. Further, the first GNSS receiver 11 may
calculate an absolute position of the first GNSS receiver 11
based on signals from the plurality of positioning satellites
(not shown). The first GNSS receiver 11 may also transmit
data of this calculated absolute position of the first GNSS
receiver 11 to the calibration apparatus 50. Further, the
second GNSS receiver 12 may calculate an absolute position
of the second GNSS receiver 12 based on signals from the
plurality of positioning satellites (not shown). The second
GNSS receiver 12 may also transmit data of this calculated
absolute position of the second GNSS receiver 12 to the
calibration apparatus 50.

[0207] In such an alternative embodiment, the Xo-axis
directional component of the absolute position of the refer-
ence GNSS receiver 10 in the absolute coordinate system 2o
is denoted by x_ref. The Yo-axis directional component of
the absolute position of the reference GNSS receiver 10 in
the absolute coordinate system 2o is denoted by y_ref. The
Zo-axis directional component of the absolute position of
the reference GNSS receiver 10 in the absolute coordinate
system 2o is denoted by z_ref. The Xo-axis directional
component of the absolute position of the first GNSS
receiver 11 in the absolute coordinate system 2o is denoted
by x1. The Yo-axis directional component of the absolute
position of the first GNSS receiver 11 in the absolute
coordinate system 2o is denoted by y1. The Zo-axis direc-
tional component of the absolute position of the first GNSS
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receiver 11 in the absolute coordinate system Zo is denoted
by z1. The Xo-axis directional component of the absolute
position of the second GNSS receiver 12 in the absolute
coordinate system 2o is denoted by x2. The Yo-axis direc-
tional component of the absolute position of the second
GNSS receiver 12 in the absolute coordinate system 2o is
denoted by y2. The Zo-axis directional component of the
absolute position of the second GNSS receiver 12 in the
absolute coordinate system Zo is denoted by z2.

[0208] Then, the calibration apparatus 50 may calculate
the first relative position vector P1 based on the absolute
position of the reference GNSS receiver 10 and the absolute
position of the first GNSS receiver 11. The calibration
apparatus 50 may also calculate the second relative position
vector P2 based on the absolute position of the reference
GNSS receiver 10 and the absolute position of the second
GNSS receiver 12.

[0209] More specifically, as shown in the following rela-
tional expression (21), the calibration apparatus 50 calcu-
lates x1_rel by subtracting x_ref from x1. The calibration
apparatus 50 calculates the y1_rel by subtracting the y_ref
from the y1. The calibration apparatus 50 calculates z1_rel
by subtracting z_ref from z1. the calibration apparatus 50
calculates x2_rel by subtracting x_ref from x2. The calibra-
tion apparatus 50 calculates y2_rel by subtracting y_ref from
y2. The calibration apparatus 50 calculates z2_rel by sub-
tracting z_ref from z2. As described above, x1_rel is the
Xo-axis directional component of the first relative position
vector P1 in the absolute coordinate system 2o. y1_rel is the
Yo-axis directional component of the first relative position
vector P1 in the absolute coordinate system Zo. z1_rel is the
Zo-axis directional component of the first relative position
vector P1 in the absolute coordinate system 2o. x2_rel is the
Xo-axis directional component of the second relative posi-
tion vector P2 in the absolute coordinate system Zo. y2_rel
is the Yo-axis directional component of the second relative
position vector P2 in the absolute coordinate system o.
72_rel is the Zo-axis directional component of the second
relative position vector P2 in the absolute coordinate system
2o.

x1_rel x1 —x_ref 210
yl_rel yl —y_ref
z1_rel 71—z ref
x2_rel = x2 —x_ref
y2_rel y2 —y_ref
z2_rel 72—z ref

[0210] In this manner, the calibration apparatus 50 may
calculate the first relative position vector P1 and the second
relative position vector P2.

[0211] In the above-described embodiments, the calibra-
tion apparatus 50, at step S112, calculates the estimated yaw
angle Be based on the reference receiver velocity Vref, the
first receiver velocity V1, and the second receiver velocity
V2 calculated at step S110. In an alternative embodiment,
the calibration apparatus 50 may calculate the estimated yaw
angle Oe based on one or more of the reference receiver
velocity Vref, the first receiver velocity V1, and the second
receiver velocity V2 calculated at step S110.

[0212] In the above-described embodiments, the calibra-
tion apparatus 50, at step S114, calculates the absolute value
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of a difference between the yaw angle 0 calculated at step
S106 and the estimated yaw angle Oe calculated at step S112,
|0-0el. The calibration apparatus 50 determines whether the
calculated absolute value 10—0el is greater than the displace-
ment threshold AO_th. The calibration apparatus 50 thereby
detects the positional misalignment between the reference
GNSS receiver 10 and the first GNSS receiver 11 or the
second GNSS receiver 12. In an alternative embodiment, the
calibration apparatus 50 is not limited in configuration to
calculating the above absolute value 10-0el.

[0213] For example, the calibration apparatus 50 may
divide the yaw angle 0 calculated at step S106 by the
estimated yaw angle Oe calculated at step S112. The cali-
bration apparatus 50 may detect a positional misalignment
between the reference GNSS receiver 10 and the first GNSS
receiver 11 or the second GNSS receiver 12 by comparing
this divided value with a threshold value. The threshold
value for the divided value is set by experiment, simulation,
or the like.

[0214] In the above-described embodiments, it is assumed
that there is no noise in the state equation and the observa-
tion equation. In an alternative embodiment, noise may be
taken into account in the state equation and the observation
equation. For example, noise in the state equation and the
observation equation for the attitude quantity q is an error in
data received by each of the reference GNSS receiver 10, the
first GNSS receiver 11, and the second GNSS receiver 12.
Noise in the state equation and the observation equation for
the angular velocity error €2 is an error in each component
caused by a temperature change of the gyro sensor 20.
Further, noise in the state equation and the observation
equation for the acceleration error €A is an error in each
component caused by a temperature change of the accelera-
tion sensor 40.

[0215] In the above-described embodiments, the calibra-
tion apparatus 50 estimates the angular velocity error eQ of
the vehicle 1 at step S212. In the above-described embodi-
ments, this angular velocity error eQ is any one of a value
for a change in detected angular velocity Qc detected by the
gyro sensor 20 when the angular velocity of the vehicle 1
changes and a value for the detected angular velocity Qc
detected by the gyro sensor 20 when the vehicle 1 is stopped.
In an alternative embodiment, the calibration apparatus 50
may estimate only the value for the change in detected
angular velocity Qc detected by the gyro sensor 20 when the
angular velocity of the vehicle 1 changes. In another alter-
native embodiment, the calibration apparatus 50 may esti-
mate only the value for the detected angular velocity Qc
detected by the gyro sensor 20 when the vehicle 1 is stopped.
[0216] In the above-described embodiments, the calibra-
tion apparatus 50 estimates the acceleration error e A of the
vehicle 1 at step S218. In the above-described embodiments,
this acceleration error €A is any one of a value for a change
in detected acceleration Ac detected by the acceleration
sensor 40 when the acceleration of the vehicle 1 changes and
a value for the detected acceleration Ac detected by the
acceleration sensor 40 when the vehicle 1 is stopped. In an
alternative embodiment, the calibration apparatus 50 may
estimate only the value for the change in detected accelera-
tion Ac detected by the acceleration sensor 40 when the
acceleration of the vehicle 1 changes. In another alternative
embodiment, the calibration apparatus 50 may estimate only
the value for the detected acceleration Ac detected by the
acceleration sensor 40 when the vehicle 1 is stopped.
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[0217] In the above-described embodiments, the position
coordinates of the reference GNSS receiver 10 in the vehicle
coordinate system X are represented by Ant_ref. The posi-
tion coordinates of the first GNSS receiver 11 in the vehicle
coordinate system X are represented by Antl. The position
coordinates of the second GNSS receiver 12 in the vehicle
coordinate system X are represented by Ant2. Here, the X
coordinate of Ant_ref in the vehicle coordinate system X is
set to 1. The Y coordinate of Ant_ref in the vehicle coordi-
nate system 2 is set to 0. The Z coordinate of Ant_ref in the
vehicle coordinate system X is set to 0. The X coordinate of
Antl in the vehicle coordinate system X is set to 0. The
Y-coordinate of Antl in the vehicle coordinate system X is
set to 1. The Z-coordinate of Antl in the vehicle coordinate
system 2 is set to 0. The X-coordinate of Ant2 in the vehicle
coordinate system X is set to 0. The Y-coordinate of Ant2 in
the vehicle coordinate system X is set to —1. The Z-coordi-
nate of Ant2 in the vehicle coordinate system X is set to 0.
[0218] The position coordinates of each of Ant_ref, Antl,
and Ant2 are not limited to the above values. In an alterna-
tive embodiment, the position coordinates of each of Ant_
ref, Antl, and Ant2 may be set according to the reference
GNSS receiver 10, the first GNSS receiver 11, and the
second GNSS receiver 12 arranged in the vehicle 1.
[0219] In the above-described embodiments, the calibra-
tion apparatus 50 estimates the attitude quantity q of the
vehicle 1 using the extended Kalman filter. In an alternative
embodiment, the calibration apparatus 50 is not limited in
configuration to estimating the attitude quantity q of the
vehicle 1 using the extended Kalman filter. For example, the
calibration apparatus 50 may estimate the attitude quantity q
of the vehicle 1 based on a direction of the first relative
position vector P1 or a direction of the second relative
position vector P2.

[0220] In the above-described embodiments, the calibra-
tion apparatus 50 estimates the angular velocity error eQ
using the Kalman filter. The calibration apparatus 50 is not
limited in configuration to using the Kalman filter to esti-
mate the angular velocity error €Q. For example, the cali-
bration apparatus 50 may estimate the angular velocity error
e€2 based on a difference between the estimated angular
velocity Qe and the detected angular velocity €2¢ detected by
the gyro sensor 20.

[0221] In the above-described embodiments, the calibra-
tion apparatus 50 estimates the acceleration error €A using
the Kalman filter. The calibration apparatus 50 is not limited
in configuration to using the Kalman filter to estimate the
acceleration error e A. For example, the calibration apparatus
50 may estimate the acceleration error eA based on a
difference between the estimated acceleration Ae and the
detected acceleration Ac detected by the acceleration sensor
40.

[0222] In the above-described embodiments, the state
transition matrix for attitude B, the state transition matrix for
angular velocity C, and the state transition matrix for accel-
eration D are unit matrices. The state transition matrix for
attitude B, the state transition matrix for angular velocity C,
and the state transition matrix for acceleration D are not
limited to unit matrices, and may be set to predetermined
values by experiment, simulation, or the like.

[0223] In the above modification, at step S300, the cali-
bration apparatus 50 determines, based on the estimated
angular velocity Qe calculated at step S210, whether the
vehicle 1 is stopped. The calibration apparatus 50 is not
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limited in configuration to determining whether the vehicle
1 is stopped based on the estimated angular velocity Qe.
[0224] For example, the calibration apparatus 50 may
determine whether the vehicle 1 is stopped, based on the
vehicle speed V¢ detected by the vehicle speed sensor 30.
More specifically, the calibration apparatus 50 may deter-
mine that the vehicle 1 is stopped when the vehicle speed Vc
is lower than a threshold value. The calibration apparatus 50
may determine that the vehicle 1 is not stopped when the
vehicle speed Ve is equal to or higher than the threshold
value. This threshold value for the vehicle speed Ve may be
set by experiment, simulation, or the like.

What is claimed is:

1. An apparatus for calibrating an inertial sensor config-
ured to detect an angular velocity of a vehicle, the vehicle
being equipped with at least one reference receiver which
receives signals from a plurality of positioning satellites, at
least one first receiver which receives signals from the
plurality of positioning satellites, and at least one second
receiver which receives signals from the plurality of posi-
tioning satellites, the apparatus comprising:

a position calculator configured to calculate a first relative
position of the first receiver to a position of the refer-
ence receiver based on data based on the signals
received by the reference receiver from the positioning
satellites and data based on the signals received by the
first receiver from the positioning satellites, and calcu-
late a second relative position of the second receiver to
the position of the reference receiver based on the data
based on the signals received by the reference receiver
from the positioning satellites and data based on the
signals received by the second receiver from the posi-
tioning satellites;

an attitude estimator configured to estimate a value for an
attitude of the vehicle and a value for a change in
attitude of the vehicle based on the first relative posi-
tion and the second relative position;

an angular velocity estimator configured to estimate a
value for an angular velocity of the vehicle based on the
value for the attitude of the vehicle estimated by the
attitude estimator and the value for the change in
attitude of the vehicle estimated by the attitude estima-
tor;

an error estimator configured to, based on the value for the
angular velocity of the vehicle estimated by the angular
velocity estimator and a value for the angular velocity
of the vehicle detected by the inertial sensor, estimate
a value for an angular velocity error that is an error
between the value for the angular velocity of the
vehicle estimated by the angular velocity estimator and
the value for the angular velocity of the wvehicle
detected by the inertial sensor; and

a calibrator configured to calibrate the value for the
angular velocity of the vehicle detected by the inertial
sensor based on the value for the angular velocity error
estimated by the error estimator.

2. The apparatus according to claim 1, wherein

the attitude estimator is configured to calculate a predicted
value for the attitude of the vehicle at a current time
based on the values for the attitude of the vehicle before
the current time, and estimate the value for the attitude
of the vehicle at the current time based on the predicted
value for the attitude of the vehicle calculated, the first
relative position, and the second relative position, and
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estimate a value for a change in attitude of the vehicle
at the current time based on the values for the attitude
of the vehicle before the current time and the estimated
value for the attitude of the vehicle at the current time.

3. The apparatus according to claim 1, wherein

the value for the angular velocity error includes values for
a change in angular velocity of the vehicle detected by
the inertial sensor when the angular velocity of the
vehicle changes or values for the angular velocity of the
vehicle detected by the inertial sensor when the vehicle
is stopped, and

the error estimator is configured to calculate the predicted
value for the angular velocity error at the current time
based on the values for the angular velocity error before
the current time, and estimate the value for the angular
velocity error at the current time based on the predicted
value for the angular velocity error calculated, the value
for the angular velocity of the vehicle estimated by the
angular velocity estimator, and the value for the angular
velocity of the vehicle detected by the inertial sensor.

4. The apparatus according to claim 1, wherein

the attitude estimator is configured to estimate the value
for the attitude of the vehicle based on the positions of
the reference receiver, the first receiver, and the second
receiver that are preset in the vehicle.

5. The apparatus according to claim 1, further comprising

a positional misalignment determiner configured to deter-
mine whether there is a positional misalignment
between the reference receiver and the first receiver or
the second receiver,

wherein the calibrator is configured to, in response to the
positional misalighment determiner determining that
there is no positional misalignment between the refer-
ence receiver, the first receiver, and the second receiver,
calibrate the inertial sensor.

6. The apparatus according to claim 5, further comprising:

a converter configured to estimate a value for a yaw angle
of the vehicle based on the value for the attitude of the
vehicle estimated by the attitude estimator;

a speed calculator configured to calculate a speed of the
reference receiver using the data based on the signals
received by the reference receiver from the positioning
satellites, a speed of the first receiver using the data
based on the signals received by the first receiver from
the positioning satellites, and a velocity of the second
receiver using the data based on the signals received by
the second receiver from the positioning satellites; and

a yaw angle estimator configured to estimate the value for
the yaw angle of the vehicle based on the speed of the
reference receiver, the speed of the first receiver, and
the speed of the second receiver,

wherein the positional misalignment determiner is con-
figured to determine whether there is a positional
misalignment between the reference receiver and the
first receiver or the second receiver, based on the value
for the yaw angle of the vehicle estimated by the
converter and the value for the yaw angle of the vehicle
estimated by the yaw angle estimator.

7. The apparatus according to claim 5, further comprising:

a converter configured to estimate a value for a yaw angle
of the vehicle based on the value for the attitude of the
vehicle estimated by the attitude estimator;

a speed calculator configured to calculate at least one of
a speed of the reference receiver using the data based
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on the signals received by the reference receiver from
the positioning satellites, a speed of the first receiver
using the data based on the signals received by the first
receiver from the positioning satellites, and a velocity
of the second receiver using the data based on the
signals received by the second receiver from the posi-
tioning satellites; and

a yaw angle estimator configured to estimate the value for
the yaw angle of the vehicle based on the calculated at
least one of the speed of the reference receiver, the
speed of the first receiver, and the speed of the second
receiver,

wherein the positional misalignment determiner is con-
figured to determine whether there is a positional
misalignment between the reference receiver and the
first receiver or the second receiver, based on the value
for the yaw angle of the vehicle estimated by the
converter and the value for the yaw angle of the vehicle
estimated by the yaw angle estimator.

8. The apparatus according to claim 5, further comprising

a speed determiner configured to determine whether a
speed of the vehicle is equal to or higher than a
threshold value for the speed of the vehicle,

wherein the positional misalignment determiner is con-
figured to, in response to the speed determiner deter-
mining that the speed of the vehicle being equal to or
higher than the threshold value for the speed of the
vehicle, determine whether there is a positional mis-
alignment between the reference receiver and the first
receiver or the second receiver.

9. An apparatus for calibrating an inertial sensor config-
ured to detect an acceleration of a vehicle, the vehicle being
equipped with at least one reference receiver which receives
signals from a plurality of positioning satellites, at least one
first receiver which receives signals from the plurality of
positioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the apparatus comprising:

a position calculator configured to calculate a first relative
position of the first receiver to a position of the refer-
ence receiver based on data based on the signals
received by the reference receiver from the positioning
satellites and data based on the signals received by the
first receiver from the positioning satellites, and calcu-
late a second relative position of the second receiver to
the position of the reference receiver based on the data
based on the signals received by the reference receiver
from the positioning satellites and data based on the
signals received by the second receiver from the posi-
tioning satellites;

an attitude estimator configured to estimate a value for an
attitude of the vehicle based on the first relative posi-
tion and the second relative position;

an acceleration estimator configured to estimate a value
for an acceleration of the vehicle based on the value for
the attitude of the vehicle estimated by the attitude
estimator;

an error estimator configured to, based on the value for the
acceleration of the vehicle estimated by the accelera-
tion estimator and a value for the acceleration of the
vehicle detected by the inertial sensor, estimate a value
for an acceleration error that is an error between the
value for the acceleration of the vehicle estimated by
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the acceleration estimator and the value for the accel-
eration of the vehicle detected by the inertial sensor;
and
calibrator configured to calibrate the value for the
acceleration of the vehicle detected by the inertial
sensor based on the value for the acceleration error
estimated by the error estimator.
10. The apparatus according to claim 9, wherein
the attitude estimator is configured to calculate a predicted
value for the attitude of the vehicle at a current time
based on the values for the attitude of the vehicle before
the current time, and estimate the value for the attitude
of the vehicle based on the predicted value for the
attitude of the vehicle calculated, the first relative
position, and the second relative position.
11. The apparatus according to claim 9, wherein
the value for the acceleration error includes values for a
change in acceleration of the vehicle detected by the
inertial sensor when the acceleration of the vehicle
changes or values for the acceleration of the vehicle
detected by the inertial sensor when the vehicle is
stopped, and
the error estimator is configured to calculate the predicted
value for the acceleration error at a current time based
on the values for the acceleration error before the
current time, and estimate the value for the acceleration
error at the current time based on the predicted value
for the acceleration error calculated, the value for the
acceleration of the vehicle estimated by the accelera-
tion estimator, and the value for the acceleration of the
vehicle detected by the inertial sensor.
12. The apparatus according to claim 9, further compris-
ing
avehicle stop determiner configured to determine whether
the vehicle is stopped,
wherein the calibrator is configured to calibrate the value
for the acceleration of the vehicle detected by the
inertial sensor when the vehicle is stopped.
13. The apparatus according to claim 12, wherein
the attitude estimator is configured to estimate a value for
a change in attitude of the vehicle at the current time
based on the values for the attitude of the vehicle before
the current time and the value for the attitude of the
vehicle at the current time,
the apparatus further comprises an angular velocity esti-
mator configured to estimate values for the angular
velocity of the vehicle based on the value for the
attitude of the vehicle estimated by the attitude estima-
tor and the value for the change in attitude of the
vehicle estimated by the attitude estimator, and
the vehicle stop determiner is configured to, in response
to each of the values for the angular velocity of the
vehicle estimated by the angular velocity estimator
being less than a threshold value, determine that the
vehicle is stopped, and in response to at least one of the
values for the angular velocity of the vehicle estimated
by the angular velocity estimator being equal to or
greater than the threshold value, determine that the
vehicle is not stopped.
14. The apparatus according to claim 9, wherein
the attitude estimator is configured to estimate the value
for the attitude of the vehicle based on the positions of
the reference receiver, the first receiver, and the second
receiver that are preset in the vehicle.
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15. The apparatus according to claim 9, further compris-

ing

a positional misalignment determiner configured to deter-
mine whether there is a positional misalignment
between the reference receiver and the first receiver or
the second receiver,

wherein the calibrator is configured to, in response to the
positional misalighment determiner determining that
there is no positional misalignment between the refer-
ence receiver, the first receiver, and the second receiver,
calibrate the inertial sensor.

16. The apparatus according to claim 15, further com-

prising:

a converter configured to estimate a value for a yaw angle
of the vehicle based on the value for the attitude of the
vehicle estimated by the attitude estimator;

a speed calculator configured to calculate a speed of the
reference receiver using the data based on the signals
received by the reference receiver from the positioning
satellites, a speed of the first receiver using the data
based on the signals received by the first receiver from
the positioning satellites, and a velocity of the second
receiver using the data based on the signals received by
the second receiver from the positioning satellites; and

a yaw angle estimator configured to estimate the value for
the yaw angle of the vehicle based on the speed of the
reference receiver, the speed of the first receiver, and
the speed of the second receiver,

wherein the positional misalignment determiner is con-
figured to determine whether there is a positional
misalignment between the reference receiver and the
first receiver or the second receiver, based on the value
for the yaw angle of the vehicle estimated by the
converter and the value for the yaw angle of the vehicle
estimated by the yaw angle estimator.

17. The apparatus according to claim 15, further com-

prising:

a converter configured to estimate a value for a yaw angle
of the vehicle based on the value for the attitude of the
vehicle estimated by the attitude estimator;

a speed calculator configured to calculate at least one of
a speed of the reference receiver using the data based
on the signals received by the reference receiver from
the positioning satellites, a speed of the first receiver
using the data based on the signals received by the first
receiver from the positioning satellites, and a velocity
of the second receiver using the data based on the
signals received by the second receiver from the posi-
tioning satellites; and

a yaw angle estimator configured to estimate the value for
the yaw angle of the vehicle based on the calculated at
least one of the speed of the reference receiver, the
speed of the first receiver, and the speed of the second
receiver,

wherein the positional misalignment determiner is con-
figured to determine whether there is a positional
misalignment between the reference receiver and the
first receiver or the second receiver, based on the value
for the yaw angle of the vehicle estimated by the
converter and the value for the yaw angle of the vehicle
estimated by the yaw angle estimator.

18. The apparatus according to claim 15, further com-

prising
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a speed determiner configured to determine whether a
speed of the vehicle is equal to or higher than a
threshold value for the speed of the vehicle,

wherein the positional misalignment determiner is con-
figured to, in response to the speed determiner deter-
mining that the speed of the vehicle being equal to or
higher than the threshold value for the speed of the
vehicle, determine whether there is a positional mis-
alignment between the reference receiver and the first
receiver or the second receiver.

19. A method for calibrating an inertial sensor configured
to detect an angular velocity of a vehicle, the vehicle being
equipped with at least one reference receiver which receives
signals from a plurality of positioning satellites, at least one
first receiver which receives signals from the plurality of
positioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the method comprising:

calculating a first relative position of the first receiver to
a position of the reference receiver based on data based
on the signals received by the reference receiver from
the positioning satellites and data based on the signals
received by the first receiver from the positioning
satellites, and calculating a second relative position of
the second receiver to the position of the reference
receiver based on the data based on the signals received
by the reference receiver from the positioning satellites
and data based on the signals received by the second
receiver from the positioning satellites;

estimating a value for an attitude of the vehicle and a
value for a change in attitude of the vehicle based on
the first relative position and the second relative posi-
tion;

estimating a value for an angular velocity of the vehicle
based on the value for the attitude of the vehicle
estimated by the attitude estimator and the value for the
change in attitude of the vehicle estimated by the
attitude estimator;

based on the value for the angular velocity of the vehicle
estimated and a value for the angular velocity of the
vehicle detected by the inertial sensor, estimating a
value for an angular velocity error that is an error
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between the value for the angular velocity of the
vehicle estimated and the value for the angular velocity
of the vehicle detected by the inertial sensor; and

calibrating the value for the angular velocity of the
vehicle detected by the inertial sensor based on the
value for the angular velocity error estimated by the
error estimator.

20. A method for calibrating an inertial sensor configured
to detect an acceleration of a vehicle, the vehicle being
equipped with at least one reference receiver which receives
signals from a plurality of positioning satellites, at least one
first receiver which receives signals from the plurality of
positioning satellites, and at least one second receiver which
receives signals from the plurality of positioning satellites,
the method comprising:

calculating a first relative position of the first receiver to

a position of the reference receiver based on data based
on the signals received by the reference receiver from
the positioning satellites and data based on the signals
received by the first receiver from the positioning
satellites, and calculating a second relative position of
the second receiver to the position of the reference
receiver based on the data based on the signals received
by the reference receiver from the positioning satellites
and data based on the signals received by the second
receiver from the positioning satellites;

estimating a value for an attitude of the vehicle based on

the first relative position and the second relative posi-
tion;
estimating a value for an acceleration of the vehicle based
on the value for the attitude of the vehicle estimated;

based on the value for the acceleration of the vehicle
estimated and a value for the acceleration of the vehicle
detected by the inertial sensor, estimating a value for an
acceleration error that is an error between the value for
the acceleration of the vehicle estimated and the value
for the acceleration of the vehicle detected by the
inertial sensor; and

calibrating the value for the acceleration of the vehicle

detected by the inertial sensor based on the value for the
acceleration error estimated.
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